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Stand Alone Mcqs

1. In the given figure ,if TP and TQ are tangents to

a circle with centre O, so that ∠POQ = 110∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5yvInqXejgw3


,then  is 


A. 

B. 

C. 

D. 

Answer: D

∠PTQ

110∘

90∘

80∘

70∘

https://dl.doubtnut.com/l/_5yvInqXejgw3


Watch Video Solution

2. If radii of two concentric circles are 4 cm and 5

cm, then length of each chord of one circle which

is tangent to the other circle, is

A. 3 cm

B. 6 cm

C. 9 cm

D. 1 cm

Answer: B

https://dl.doubtnut.com/l/_5yvInqXejgw3
https://dl.doubtnut.com/l/_4Vw5Eq8OL1TW


Watch Video Solution

3. In the given figure , if ,then 

 is equal to : 

A. 

B. 

C. 

∠AOB = 125∘

∠COD

62.5∘

45∘

35∘

https://dl.doubtnut.com/l/_4Vw5Eq8OL1TW
https://dl.doubtnut.com/l/_i9WAprJQ8fIL


D. 

Answer: D

Watch Video Solution

55∘

4. In the given figure ,AT is a tangent to the circle

with centre O such that OT =4 cm and

https://dl.doubtnut.com/l/_i9WAprJQ8fIL
https://dl.doubtnut.com/l/_8wN2PC7mqakW


 .Then AT is equal to : 


A. 4 cm

B. 2 cm

C.  cm

D.  cm

Answer: C

∠OTA = 30∘

2√3

4√3

https://dl.doubtnut.com/l/_8wN2PC7mqakW


Watch Video Solution

5. In the given figure ,'O is the centre of circle ,PQ

is a chord and the tangent PR at P makes an

angle of  with PQ ,then  is equal to : 

A. 

B. 

50∘ ∠POQ

100∘

80∘

https://dl.doubtnut.com/l/_8wN2PC7mqakW
https://dl.doubtnut.com/l/_sm27ZX6feXr2


C. 

D. 

Answer: A

Watch Video Solution

90∘

75∘

6. If two tangents inlined at an angle  are

drawn to a circle of radius 3 cm , then the length

60∘

https://dl.doubtnut.com/l/_sm27ZX6feXr2
https://dl.doubtnut.com/l/_3lt5HSeeyx5U


of each tangent is equal to : 

A. cm

B. 6 cm

C. 3 cm

D.  cm

Answer: D

Watch Video Solution

√3
3

2

3√3

https://dl.doubtnut.com/l/_3lt5HSeeyx5U


7. In the given figure A,B is a chord of the circle

and AOC is its diameter ,such that 

.If AT is the tangent to the circle at the point A,

then  is equal to : 


A. 

B. 

∠ACB = 50∘

∠BAT

65∘

60∘

https://dl.doubtnut.com/l/_3lt5HSeeyx5U
https://dl.doubtnut.com/l/_X4lZRPYUpNNT


C. 

D. 

Answer: C

Watch Video Solution

50∘

40∘

8. A tangent PQ at a point P of a circle of radius 5

cm meets a line through the centre O at a point

https://dl.doubtnut.com/l/_X4lZRPYUpNNT
https://dl.doubtnut.com/l/_CGmjxb7v3M61


Q so that OQ =12 cm . Length PQ is : 

A. 12 cm

B. 13 cm

C. 8.5 cm

D.  cm.

Answer: D

√119

https://dl.doubtnut.com/l/_CGmjxb7v3M61


Watch Video Solution

9. If tangents PA and PB from a point P to a circle

with centre O are inclined to each other at angle

of  , then find  . 


A. 

80∘ ∠POA

15∘

https://dl.doubtnut.com/l/_CGmjxb7v3M61
https://dl.doubtnut.com/l/_Llu4o3PRkzce


B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘

70∘

80∘

10. In figure, QR is a common tangent to the given

circles, touching externally at the point T. The

tangent at T meets QR at P. 

https://dl.doubtnut.com/l/_Llu4o3PRkzce
https://dl.doubtnut.com/l/_5NVU33jLfrXo


If PT=3.8cm, then the length of QR(in cm) is 

A.  cm

B.  cm

C.  cm

D. cm

Answer: B

Watch Video Solution

3.8

7.6

5.7

1.9

https://dl.doubtnut.com/l/_5NVU33jLfrXo


11. Two circles
 touch each other externally at 
 . 


 is a common
 tangent to the circle touching

them at 
and 
 . The value
of 
 is
 
 (b) 


(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: D

P

AB

A B ∠APB 30o

45o 60o 90o

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_5NVU33jLfrXo
https://dl.doubtnut.com/l/_CcpshIYaju4i


Watch Video Solution

12. In figure ,PA and PB are two tangents drawn

from an external point P to a circle with centre C

and radius 4 cm .If PB ,then the length of

each tangent is : 

A. 3 cm

Pa ⊥

https://dl.doubtnut.com/l/_CcpshIYaju4i
https://dl.doubtnut.com/l/_OXxWD3gO0N6D


B. 4 cm

C. 5 cm

D. 6 cm

Answer: B

Watch Video Solution

13. In the given figure, if AB=xcm ,BC =7 cm ,CR =3

cm and AS =5 cm , find x: 

https://dl.doubtnut.com/l/_OXxWD3gO0N6D
https://dl.doubtnut.com/l/_4OjvgNxrzbWO


A. 10 cm

B. 9 cm

C. 8 cm

D. 7 cm

Answer: B

https://dl.doubtnut.com/l/_4OjvgNxrzbWO


Watch Video Solution

14. In the give figure ,PQ and PR are tangents to

the given circle such that PQ =5 cm and

. The length of chord QR is 


A. 

B. cm

C. 

∠QPR = 60∘

5√2

7.5

5√3

https://dl.doubtnut.com/l/_4OjvgNxrzbWO
https://dl.doubtnut.com/l/_aFf60oGAGd1d


D. 5 cm

Answer: D

Watch Video Solution

15. The chord of a circle of radius  subtends

a right angle at its centre. The length of the

chord (in cm) is

A. 

B. 

C. 

10cm

10√2

5√2

5

√2

https://dl.doubtnut.com/l/_aFf60oGAGd1d
https://dl.doubtnut.com/l/_cRy3s4hvWWH1


Assertion And Reason Based Mcqs

D. 

Answer: A

Watch Video Solution

10√3

1. The distance of point A from the centre of the

circle is 5 cm. The length of the tangent is 4 cm.

The radius of the circle is :

https://dl.doubtnut.com/l/_cRy3s4hvWWH1
https://dl.doubtnut.com/l/_02BQz7DCQhZy


A. Both A and R are true and R is the correct

explanation for A.

B. Both A and R are true and R is not correct

explanation for A.

C. A is true but R is false.

D. A is false but R is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_02BQz7DCQhZy


2. Assertion (A) : If in a cyclic quadrilateral ,one

angle is  ,then the opposite angle is  . 


Reason (R ) : Sum of opposite angle in a cyclic

quadrilateral is equal to .

A. Both A and R are true and R is the correct

explanation for A.

B. Both A and R are true and R is not correct

explanation for A.

C. A is true but R is false.

D. A is false but R is true.

40∘ 140∘

360∘

https://dl.doubtnut.com/l/_E0BZVV5YfVST


Answer: C

Watch Video Solution

3. Assertion (A) : PA and PB are triangles to a

circle with centre O such that ,

then  


Reason (R ) : The length of two tangents drawn

from an external point are equal .

A. Both A and R are true and R is the correct

explanation for A.

∠AOB = 110∘

∠APB = 90∘

https://dl.doubtnut.com/l/_E0BZVV5YfVST
https://dl.doubtnut.com/l/_oVNKMbPqjise


B. Both A and R are true and R is not correct

explanation for A.

C. A is true but R is false.

D. A is false but R is true.

Answer: D

Watch Video Solution

4. In figure, PQ and PR are two tangents to a circle

with centre O. IF  , then ∠QPR = 46∘ ∠QOR

https://dl.doubtnut.com/l/_oVNKMbPqjise
https://dl.doubtnut.com/l/_fwSZIM74M1ZE


equals 

A. Both A and R are true and R is the correct

explanation for A.

B. Both A and R are true and R is not correct

explanation for A.

C. A is true but R is false.

https://dl.doubtnut.com/l/_fwSZIM74M1ZE


Case Based Mcqs

D. A is false but R is true.

Answer: B

Watch Video Solution

1. Read the following text and answer the

following question on the basis of the same : 

A farmer has a field in the shape of triangle with

AB=13 cm, BC=14 cm and AE =7 cm .He wants to

leave a space in the form of a circular field for

https://dl.doubtnut.com/l/_fwSZIM74M1ZE
https://dl.doubtnut.com/l/_57Z2R3V13aqM


growing wheat and the remaining for growing

vegetables. 

 

The measure of AF is :

A. 6 cm

B. 8 cm

C. 7 cm

https://dl.doubtnut.com/l/_57Z2R3V13aqM


D. 5 cm

Answer: C

Watch Video Solution

2. Read the following text and answer the

following question on the basis of the same : 

A farmer has a field in the shape of triangle with

AB=13 cm, BC=14 cm and AE =7 cm .He wants to

leave a space in the form of a circular field for

growing wheat and the remaining for growing

vegetables. 

https://dl.doubtnut.com/l/_57Z2R3V13aqM
https://dl.doubtnut.com/l/_ZhCXPprnEJP4


 

The measure of BF is :

A. 4 cm

B. 6 cm

C. 3 cm

D. 10 cm

https://dl.doubtnut.com/l/_ZhCXPprnEJP4


Answer: B

Watch Video Solution

3. Read the following text and answer the

following question on the basis of the same : 

A farmer has a field in the shape of triangle with

AB=13 cm, BC=14 cm and AE =7 cm .He wants to

leave a space in the form of a circular field for

growing wheat and the remaining for growing

vegetables. 

https://dl.doubtnut.com/l/_ZhCXPprnEJP4
https://dl.doubtnut.com/l/_oqsTGEtiInjX


 

The measure of BD is :

A. 2.5 cm

B. 4 cm

C. 5 cm

D. 6 cm

Answer: D

https://dl.doubtnut.com/l/_oqsTGEtiInjX


Watch Video Solution

4. Read the following text and answer the

following question on the basis of the same : 

A farmer has a field in the shape of triangle with

AB=13 cm, BC=14 cm and AE =7 cm .He wants to

leave a space in the form of a circular field for

growing wheat and the remaining for growing

vegetables. 

https://dl.doubtnut.com/l/_oqsTGEtiInjX
https://dl.doubtnut.com/l/_D2z3CyjxlMVL


 

The measure of CE +CD is :

A. 15 cm

B. 16 cm

C. 10 cm

D. 14 cm

https://dl.doubtnut.com/l/_D2z3CyjxlMVL


Answer: B

Watch Video Solution

5. In the figure, AB=13 cm, BC=14 cm and AE =7 cm

.. 

 

The measure of AC is :

https://dl.doubtnut.com/l/_D2z3CyjxlMVL
https://dl.doubtnut.com/l/_62Pk5X8VJWBj


A. 15 cm

B. 17 cm

C. 12 cm

D. 13 cm

Answer: A

Watch Video Solution

6. In the following figure ,a circle with centre O is

inscribed in a quadrilateral ABCD such that ,it

touches the sides BC, AB, AD and CD at points P,Q

https://dl.doubtnut.com/l/_62Pk5X8VJWBj
https://dl.doubtnut.com/l/_gvx96lmGCxLV


, R and S respectively .If AB =29 cm , AD =23 cm

 cm. 


Find the value of DR : 

A. 6 cm

B. 5 cm

C. 7 cm

∠B = 90∘ and DS = 5

https://dl.doubtnut.com/l/_gvx96lmGCxLV


D. 8 cm

Answer: B

Watch Video Solution

7. Both Assertion and Reason are true but Reason

is not correct explanation of Assertion 

In the following figure ,a circle with centre O is

inscribed in a quadrilateral ABCD such that ,it

touches the sides BC, AB, AD and CD at points P,Q

, R and S respectively .If AB =29 cm , AD =23 cm

 cm. 
∠B = 90∘ and DS = 5

https://dl.doubtnut.com/l/_gvx96lmGCxLV
https://dl.doubtnut.com/l/_CT0L92c6fkDF


 

Find the value of AR :

A. 16 cm

B. 17 cm

C. 18 cm

D. 10 cm

Answer: C

h id l i

https://dl.doubtnut.com/l/_CT0L92c6fkDF


Watch Video Solution

8. Both Assertion and Reason are true but Reason

is not correct explanation of Assertion 

In the following figure ,a circle with centre O is

inscribed in a quadrilateral ABCD such that ,it

touches the sides BC, AB, AD and CD at points P,Q

, R and S respectively .If AB =29 cm , AD =23 cm

 cm. 
∠B = 90∘ and DS = 5

https://dl.doubtnut.com/l/_CT0L92c6fkDF
https://dl.doubtnut.com/l/_VE8hMBDkkIzt


 

Find the value of QB :

A. 11 cm

B. 10 cm

C. 12 cm

D. 15 cm

Answer: A

https://dl.doubtnut.com/l/_VE8hMBDkkIzt


Watch Video Solution

9. In Figure, a circle with centre 
is inscribed in a

quadrilatal 
 BC,

AB, AD na 
 AT POINTS P, Q, R and S

respectively. If


 and 


 then the radius of the circle (in cm)

is
11 (b) 18
(c) 6 (d) 15

A. 10 cm

B. 11 cm

O

ABCDsuchthat, iouchessides

CD

AB = 29cm, AD = 23cm, ∠B = 900

DS = 5cm,

https://dl.doubtnut.com/l/_VE8hMBDkkIzt
https://dl.doubtnut.com/l/_1eIOXiUpJRCT


C. 12 cm

D. 13 cm

Answer: B

Watch Video Solution

10. Both Assertion and Reason are true but

Reason is not correct explanation of Assertion 

In the following figure ,a circle with centre O is

inscribed in a quadrilateral ABCD such that ,it

touches the sides BC, AB, AD and CD at points P,Q

, R and S respectively .If AB =29 cm , AD =23 cm

https://dl.doubtnut.com/l/_1eIOXiUpJRCT
https://dl.doubtnut.com/l/_Yzsccf1cAYGs


 cm. 


 

AR is equal to :

A. DR

B. DS

C. AQ

D. PB

∠B = 90∘ and DS = 5

https://dl.doubtnut.com/l/_Yzsccf1cAYGs


Answer: C

Watch Video Solution

11. A ferris wheel (Or a big wheel in the United

Kingdom) is an amusement ride consisting of a

rotating upright wheel with multiple passenger

carrying components attached to the rim in such

a wat that as the wheel turns ,they are kept

upright , usually by gravity . 

After taking a ride in Ferris wheel Aarti came out

from the crowd and was observing her friends

who were enjoying the ride .She was curios about

https://dl.doubtnut.com/l/_Yzsccf1cAYGs
https://dl.doubtnut.com/l/_0zbmP3Fo40KR


the different angles and measures that wheel will

form . She forms the figure as given below : 

 


 


In the given figure ,Find 

A. 

∠ROQ

60∘

https://dl.doubtnut.com/l/_0zbmP3Fo40KR


B. 

C. 

D. 

Answer: C

Watch Video Solution

100∘

150∘

90∘

12. A Ferris wheel (or a big wheel in the United

Kingdom) is an amusement ride consisting of a

rotating upright wheel with multiple passenger-

carrying components (commonly referred to as

passenger cars, cabins, tubs, capsules, gondolas,

https://dl.doubtnut.com/l/_0zbmP3Fo40KR
https://dl.doubtnut.com/l/_cXEl76zvrsGh


or pods) attached to the rim in such a way that as

the wheel turns, they are kept upright, usually by

gravity. 

After taking a ride in Ferris wheel, Aarti came out

from the crowd and was observing her friends

who were enjoying the ride . She was curious

about the different angles and measures that the

wheel will form. She forms the figure as given

below. 

 


Find ∠RQP

https://dl.doubtnut.com/l/_cXEl76zvrsGh


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

75∘

60∘

30∘

90∘

13. A ferris wheel (Or a big wheel in the United

Kingdom) is an amusement ride consisting of a

rotating upright wheel with multiple passenger

https://dl.doubtnut.com/l/_cXEl76zvrsGh
https://dl.doubtnut.com/l/_gonLK3RiH6id


carrying components attached to the rim in such

a wat that as the wheel turns ,they are kept

upright , usually by gravity . 

After taking a ride in Ferris wheel Aarti came out

from the crowd and was observing her friends

who were enjoying the ride .She was curios about

the different angles and measures that wheel will

form . She forms the figure as given below : 

 


https://dl.doubtnut.com/l/_gonLK3RiH6id


 


Find 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∠RSQ

60∘

75∘

100∘

30∘

https://dl.doubtnut.com/l/_gonLK3RiH6id


14. A Ferris wheel (or a big wheel in the United

Kingdom) is an amusement ride consisting of a

rotating upright wheel with multiple passenger-

carrying components (commonly referred to as

passenger cars, cabins, tubs, capsules, gondolas,

or pods) attached to the rim in such a way that as

the wheel turns, they are kept upright, usually by

gravity. 

After taking a ride in Ferris wheel, Aarti came out

from the crowd and was observing her friends

who were enjoying the ride . She was curious

https://dl.doubtnut.com/l/_gonLK3RiH6id
https://dl.doubtnut.com/l/_qUq9Cjj3kCtn


about the different angles and measures that the

wheel will form. She forms the figure as given

below. 

 


Find 

A. 

B. 

C. 

D. 

Answer: A

∠ORP

90∘

70∘

100∘

60∘

https://dl.doubtnut.com/l/_qUq9Cjj3kCtn


Watch Video Solution

15. A ferris wheel (Or a big wheel in the United

Kingdom) is an amusement ride consisting of a

rotating upright wheel with multiple passenger

carrying components attached to the rim in such

a wat that as the wheel turns ,they are kept

upright , usually by gravity . 

After taking a ride in Ferris wheel Aarti came out

from the crowd and was observing her friends

who were enjoying the ride .She was curios about

the different angles and measures that wheel will

https://dl.doubtnut.com/l/_qUq9Cjj3kCtn
https://dl.doubtnut.com/l/_QIIJZJ8ppyfd


form . She forms the figure as given below : 

 


 


Find 

A. 

B. 

∠ORQ

20∘

10∘

https://dl.doubtnut.com/l/_QIIJZJ8ppyfd


Example

C. 

D. 

Answer: D

Watch Video Solution

16∘

15∘

1. AB is a diameter of a circle and AC is its chord

such that . If the tengent at C

intersects AB extended at D, then BC=BD.

Watch Video Solution

∠BAC = 30∘

https://dl.doubtnut.com/l/_QIIJZJ8ppyfd
https://dl.doubtnut.com/l/_yyC6pHHVDMF4


Self Assessment 1 Multiple Choice Questions

Watch Video Solution

2. Prove that the rectangle circumscribing a circle

is a square

Watch Video Solution

1. In the given figure , if TP and TQ are the two

tangents to a circle with centre O so that

https://dl.doubtnut.com/l/_yyC6pHHVDMF4
https://dl.doubtnut.com/l/_b7SsENBSbATV
https://dl.doubtnut.com/l/_W9DGYqcs2eAR


 , then  is equal to 


A. 

B. 

C. 

∠POQ = 110∘ ∠PTQ

110∘

90∘

80∘

https://dl.doubtnut.com/l/_W9DGYqcs2eAR


D. 

Answer:

Watch Video Solution

70∘

2. In the giben figure, AT is a tangent to the circle

with centre O such that OT = 4 cm and

. Find the length of segment AT. 
∠PTA = 30∘

https://dl.doubtnut.com/l/_W9DGYqcs2eAR
https://dl.doubtnut.com/l/_Zn2LEE0QQ3iQ


A. 2

B. 

C. 

D. 

Answer:

Watch Video Solution

2√3

3√3

2√2

3. The length of the tangent drawn from a point 8

cm away from the centre of a circle of radius 6 cm

is .

https://dl.doubtnut.com/l/_Zn2LEE0QQ3iQ
https://dl.doubtnut.com/l/_wj6YORvsCJKk


Self Assessment 1 Fill In The Blanks

A.  cm

B.  cm

C.  cm

D.  cm

Answer:

Watch Video Solution

2√2

2√3

2√7

3√3

https://dl.doubtnut.com/l/_wj6YORvsCJKk


1. A tangent at any point of a circle is

perpendicular to the radius through the _____.

Watch Video Solution

2. A tangent to a circle intersects it in _________

points.

Watch Video Solution

3. A line intersecting a circle in two points is

called a _________.

https://dl.doubtnut.com/l/_XplK39xcioIj
https://dl.doubtnut.com/l/_rQ7O4oNA107y
https://dl.doubtnut.com/l/_F2iPZRnNQVx9


Self Assessment 1 Very Short Answer Type Questions

Watch Video Solution

1. In the given figure PA and PB are tangents to a

circle with centre O. if  and 

. then find the value of x.

Watch Video Solution

∠APB = (2x + 3) ∘

∠AOB = (3x + 7) ∘

2. If Fig , AOB is diameter of a circle with centre O

and AC is a tangent to the circle at A . If

https://dl.doubtnut.com/l/_F2iPZRnNQVx9
https://dl.doubtnut.com/l/_coJiKqG6CeSy
https://dl.doubtnut.com/l/_pWJWDEyqDjto


 , then find  . 


Watch Video Solution

∠BOC = 130∘ ∠ACO

3. In Fig , O is the centre of a circle , PQ is a chord

and the tangent PR at P makes an angle of 50∘

https://dl.doubtnut.com/l/_pWJWDEyqDjto
https://dl.doubtnut.com/l/_qlRfjUEz28PO


Self Assessment 1 Short Answer Type Questions I

with PQ. Find  . 


Watch Video Solution

∠POQ

https://dl.doubtnut.com/l/_qlRfjUEz28PO


1. In Fig AP and BP are tangents to a circle with

centre O, such that AP = 5 cm , and 

. Find the length of chord AB. 

Watch Video Solution

∠APB = 60∘

https://dl.doubtnut.com/l/_ImKnKH1U36Rr


2. In figure, O is the centre of a circle. PT and PQ

are tangents to the circle from an external point

P. If , find . 

Watch Video Solution

∠TPQ = 70∘ ∠TRQ

3. In given figure, O is the centre of the circle and

LN is a diameter. If PQ is a tangent to the circle at

https://dl.doubtnut.com/l/_eTOCXPQOfZnX
https://dl.doubtnut.com/l/_ttgiokKf4DlI


Self Assessment 1 Short Answer Type Questions Ii

K and , find . 


Watch Video Solution

∠KLN = 30∘ ∠PKL

https://dl.doubtnut.com/l/_ttgiokKf4DlI


1. In the figure, PQ is a tangent to a circle with

centre O. If , find 

. 


Watch Video Solution

∠OAB = 30∘

∠ABP and ∠AOB

https://dl.doubtnut.com/l/_Mz6ldrM91lgQ


2. In the given fig. PQ is a chord of length 6 cm

and the radius of the circle is 6 cm. TP and TQ are

two tangents drawn from an external point T.

Find . 

Watch Video Solution

∠PTQ

https://dl.doubtnut.com/l/_oyDRBljFTSuR


Self Assessment 1 Long Answer Type Questions

3. In the adjoining figure, PQ is a chord of a circle

and PT is the tangent at P such that

Find  


Watch Video Solution

∠QPT = 60∘ . ∠PRQ.

https://dl.doubtnut.com/l/_T5UEy8wjY9Yu
https://dl.doubtnut.com/l/_iatGGZVB0Vzd


1. In the given figure, O is the centre of the circle.

Determine , if DA and DC are tangents and

. 


Watch Video Solution

∠APC

∠ADC = 50∘

2. Prove that opposite sides of a quadrilateral

circumscribing
 a circle subtend supplementary

https://dl.doubtnut.com/l/_iatGGZVB0Vzd
https://dl.doubtnut.com/l/_7rtk0jCpLCjf


Self Assessment 2 Multiple Choice Questions

angles at the centre of the circle.

Watch Video Solution

3. Two
tangents 
and 
are drawn
to a circle

with centre 
 from an
 external point 
 . Prove

that 
.

Watch Video Solution

TP TQ

O T

∠PTQ = 2∠OPQ

https://dl.doubtnut.com/l/_7rtk0jCpLCjf
https://dl.doubtnut.com/l/_oH5U0zgocvhe


1. In figure, QR is a common tangent to the given

circles, touching externally at the point T. The

tangent at T meets QR at P. 

If PT=3.8cm, then the length of QR(in cm) is 

A. 3.8 cm

B. 7.6 cm

C. 5.7 cm

https://dl.doubtnut.com/l/_ZbKCrANgT91U


D. 1.9 cm

Answer:

Watch Video Solution

2. PA and PB are two tangent draws from an

external points p circle with centre C and redues

an external point P to a and radius 4 cm. If PA|PB,

then the length or CaCh fangent is :

A. 3 cm

B. 4 cm

https://dl.doubtnut.com/l/_ZbKCrANgT91U
https://dl.doubtnut.com/l/_6jJMpe3sdIn4


C. 5 cm

D. 6 cm

Answer:

Watch Video Solution

3. Two circles
 touch each other externally at 
 . 


 is a common
 tangent to the circle touching

them at 
and 
 . The value
of 
 is
 
 (b) 


(c) 
(d) 

A. 

P

AB

A B ∠APB 30o

45o 60o 90o

30∘

https://dl.doubtnut.com/l/_6jJMpe3sdIn4
https://dl.doubtnut.com/l/_WRTcj9OHZg4Z


Self Assessment 2 Fill In The Blanks

B. 

C. 

D. 

Answer:

Watch Video Solution

45∘

60∘

90∘

1. In figure, a quadrilateral ABCD is drawn to

circumscribe a circle such that its sides AB, BC, CD

https://dl.doubtnut.com/l/_WRTcj9OHZg4Z
https://dl.doubtnut.com/l/_zADcThZjtVp9


and AD touch the circle at P, Q, R and S

respectively. If AB = x cm, BC = 7 cm, CR = 3cm and

AS = 5cm, then x = ______. 

Watch Video Solution

https://dl.doubtnut.com/l/_zADcThZjtVp9


Self Assessment 2 Very Short Answer Type

Questions

2. A circle can have .............parallel tangents at the

most.

Watch Video Solution

3. Prove that the length of the tangents drawn

from an external point to a circle are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_xSyWmGf7C3ds
https://dl.doubtnut.com/l/_XmXApuuT5KgI
https://dl.doubtnut.com/l/_5nXTAjjg2jPu


1. If the angle between two tangents drawn from

an external point P to a circle of radius 'a' and

center O , is  then find the length of OP.

Watch Video Solution

60∘ ,

2. There are two concentric circles with centre O.

PRT and PQS are tangents to the inner circle. If PR

https://dl.doubtnut.com/l/_5nXTAjjg2jPu
https://dl.doubtnut.com/l/_O3GqY2LwAHDA


= 5 cm, find the length of PS. 

Watch Video Solution

3. A triangle ABC is drawn to circumscribe a circle.

If AB = 13 cm, BC = 14 cm and AE =7 cm, then find

https://dl.doubtnut.com/l/_O3GqY2LwAHDA
https://dl.doubtnut.com/l/_am0hhPgSg0Ub


Self Assessment 2 Short Answer Type Questions I

AC. 

Watch Video Solution

https://dl.doubtnut.com/l/_am0hhPgSg0Ub


1. In figure, common tangents AB and CD to two

circles intersect at E. Prove that AB=CD. 

Watch Video Solution

2. In the given figure, PA and PB are tangents to

the circle from an external point P. CD is another

tangent touching the circle at Q. If PA =12 cm,

https://dl.doubtnut.com/l/_ytPtpE0obHjm
https://dl.doubtnut.com/l/_0bX1rTZC5Yfh


QC=3cm, then find PC+PD. 

Watch Video Solution

3. In Fig, ABC is a triangle in which , BC

= 48 cm and AB = 14 cm. A circle is inscribed in the

∠B = 90∘

https://dl.doubtnut.com/l/_0bX1rTZC5Yfh
https://dl.doubtnut.com/l/_6HOT6k25ieK0


Self Assessment 2 Short Answer Type Questions Ii

triangle, whose centre is O. Find radius of the

circle. 

Watch Video Solution

https://dl.doubtnut.com/l/_6HOT6k25ieK0


1. AB is a chord of circle with centre O. At B, a

tangent PB is drawn such that its length is 24 cm.

The distance of P from the centre is 26 cm. If the

chord AB is 16 cm, find its distance from the

centre. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZUksGxbrRlyG


2. Using the figure given below, prove that

 (Perimeter of triangle ABC) 


Watch Video Solution

AR =
1

2

https://dl.doubtnut.com/l/_eUS2Rzr6Jrdg


3. B is a tangent to the circle with centre O to B.

AB is a chord of length 24 cm at a distance of 5

cm from the centre. If the tangent is of length 20

cm, find the length of PO. 

Watch Video Solution

https://dl.doubtnut.com/l/_4Y92vKvOURKS


Self Assessment 2 Long Answer Type Questions

1. In the given figure, PA and PB are tangents to a

circle from an external point P such that PA=4 cm

and  Find the length of dhord

AB. 

∠BAC = 135∘ .

https://dl.doubtnut.com/l/_4Y92vKvOURKS
https://dl.doubtnut.com/l/_MvQWoFpvO0P2


Watch Video Solution

2. A circle is inscribed in a  having sides

8 cm, 10 cm and 12 cm as shown in figure. Find AD,

BE and CF. 

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_MvQWoFpvO0P2
https://dl.doubtnut.com/l/_rZHrhHwyFUnW


Self Assessment 2 Case Study Based Questions

3. O is the centre of a circle of radius 5cm. T is a

point such that OT=13cm and OT intersects the

circle at E, find the length AB. 

Watch Video Solution

https://dl.doubtnut.com/l/_rZHrhHwyFUnW
https://dl.doubtnut.com/l/_2GJK3QbbxRjY


1.  


A line which intersect the circle at two points (P

and Q) is called a.................. of the circle.

A. diameter

B. radius

C. chord

D. secant

https://dl.doubtnut.com/l/_uy5YV4dfRjm6


Answer:

Watch Video Solution

2.  


The chord, which passes through the centre of

the circle, is called a ........... of the circle.

A. diameter

B. radius

https://dl.doubtnut.com/l/_uy5YV4dfRjm6
https://dl.doubtnut.com/l/_tyF6DO9uzJeJ


C. secant

D. segment

Answer: A

Watch Video Solution

3.  


The distance from the centre (O) of the circle to

https://dl.doubtnut.com/l/_tyF6DO9uzJeJ
https://dl.doubtnut.com/l/_fYDYXU6IkGEb


any point on the circle is called a............... of the

circle,

A. diameter

B. chord

C. centre

D. radius

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_fYDYXU6IkGEb


4.  


Diameter is equal to two times the ............. of the

circle.

A. radius

B. chord

C. segment

D. secant

https://dl.doubtnut.com/l/_L8yisqa0CWXn


Answer: A

Watch Video Solution

5.  


Take two points A and C on the circle, them the

line segment joining the point A and C is called a

………... of the circle.

A. radius

https://dl.doubtnut.com/l/_L8yisqa0CWXn
https://dl.doubtnut.com/l/_5JDKFMABaybw


B. diameter

C. chord

D. centre

Answer:

Watch Video Solution

6.  


How many tangents are draw from the external

https://dl.doubtnut.com/l/_5JDKFMABaybw
https://dl.doubtnut.com/l/_aN0aQNz9k6Ab


point (A) to the circle?

A. 1

B. 2

C. 0

D. 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aN0aQNz9k6Ab


7.  


How many tangents are drawn Through the point

lying on the circle?

A. 0

B. 1

C. 2

D. 3

https://dl.doubtnut.com/l/_VimzjCsAcRFT


Answer:

Watch Video Solution

8.  


How many tangents are drawn from the internal

point of the circle?

A. 0

https://dl.doubtnut.com/l/_VimzjCsAcRFT
https://dl.doubtnut.com/l/_Ei65kVss7HM4


B. 1

C. 2

D. 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Ei65kVss7HM4


9.  


The tangent at any point of a circle is ............ to the

radius through the point of contact.

A. Parallel

B. Perpendicular

C. diagonally

D. None of these

https://dl.doubtnut.com/l/_jtiCGVdo0d77


Answer:

Watch Video Solution

10.  


The length of tangents drawn from the external

point to a circle are ........... .

A. equal

B. unequal

https://dl.doubtnut.com/l/_jtiCGVdo0d77
https://dl.doubtnut.com/l/_scJ2AX5Gawec


C. one is two time the other

D. None of these

Answer:

Watch Video Solution

11.  


A point P is 13 cm from the centre of the circle.

The two tangent PQ and PR are drawn from the

https://dl.doubtnut.com/l/_scJ2AX5Gawec
https://dl.doubtnut.com/l/_PGTMkWf2oQ7C


point P, The length of the tangent drawn from P

to the circle is 12 cm. 

 is equal to ………. .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∠PQO

30∘

90∘

60∘

180∘

https://dl.doubtnut.com/l/_PGTMkWf2oQ7C


12.  


A point P is 13 cm from the centre of the circle.

The two tangent PQ and PR are drawn from the

point P, The length of the tangent drawn from P

to the circle is 12 cm. 

Find the radius of the circle.

A. 5 cm

B. 10 cm

https://dl.doubtnut.com/l/_mw9DcKFpWdlb


C. 8 cm

D. 11 cm

Answer:

Watch Video Solution

13.  


A point P is 13 cm from the centre of the circle.

The two tangent PQ and PR are drawn from the

https://dl.doubtnut.com/l/_mw9DcKFpWdlb
https://dl.doubtnut.com/l/_GbiQs6DGVvvt


point P, The length of the tangent drawn from P

to the circle is 12 cm. 

Find the angle QPR.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

90∘

120∘

60∘

100∘

https://dl.doubtnut.com/l/_GbiQs6DGVvvt


14.  


A point P is 13 cm from the centre of the circle.

The two tangent PQ and PR are drawn from the

point P, The length of the tangent drawn from P

to the circle is 12 cm. 

Find the length of OR.

A. 10 cm

B. 5 cm

https://dl.doubtnut.com/l/_PER8js8BwMyU


C. 6 cm

D. 13 cm

Answer:

Watch Video Solution

15.  


A point P is 13 cm from the centre of the circle.

The two tangent PQ and PR are drawn from the

https://dl.doubtnut.com/l/_PER8js8BwMyU
https://dl.doubtnut.com/l/_9yj6Et5skKzk


point P, The length of the tangent drawn from P

to the circle is 12 cm. 

Find the length of PR.

A. 5 cm

B. 13 cm

C. 12 cm

D. 11 cm

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9yj6Et5skKzk


Ncert Corner Exercise 10 1

1. How many
tangents can a circle have?

Watch Video Solution

2. A tangent to a circle intersects it in _________

points.

Watch Video Solution

https://dl.doubtnut.com/l/_vDFoZspCGekA
https://dl.doubtnut.com/l/_7Lz3yp6fMat3


3. A line intersecting a circle in two points is

called a _________.

Watch Video Solution

4. A circle can have .............parallel tangents at the

most.

Watch Video Solution

5. Fill in the blanks 

 A line intersecting a circle in two distinct(i)

https://dl.doubtnut.com/l/_fsAumfzSpvwK
https://dl.doubtnut.com/l/_buRdhykeaMgD
https://dl.doubtnut.com/l/_bc9JexDHwhkA


points is caled a…. 

 A circle can have… parallel tangents at the

most. 

 The common point of a tangent to a circle

and the circle is called the…. 

 A circle can have.... tangents.

Watch Video Solution

(ii)

(iii)

(iv)

6. A tangent PQ at a point P of a circle of radius 5

cm meets a line through the centre O at a point

https://dl.doubtnut.com/l/_bc9JexDHwhkA
https://dl.doubtnut.com/l/_YroLZnWrA2tB


Q so that OQ = 12 cm. Length PQ is: 

A. 12 cm

B. 13 cm

C. 8.5 cm

D. 

Answer: d

Watch Video Solution

√119cm

https://dl.doubtnut.com/l/_YroLZnWrA2tB


Ncert Corner Exercise 10 2 Choose The Correct

Option

Watch Video Solution

7. Draw a circle and two lines parallel to a given

line
 such that one is a tangent and the other, a

secant to the circle.

Watch Video Solution

1. From a point Q, the length of the tangent to a

circle is 24 cm and the distance of Q from the

https://dl.doubtnut.com/l/_YroLZnWrA2tB
https://dl.doubtnut.com/l/_IZR9RTrbgd5y
https://dl.doubtnut.com/l/_Vk72vpVYpN8B


centre is 25 cm. The radius of the circle is 

A. 7cm

B. 12 cm

C. 15 cm

D. 24.5 cm

Answer: A

https://dl.doubtnut.com/l/_Vk72vpVYpN8B


Watch Video Solution

2. In the given figure , if TP and TQ are the two

tangents to a circle with centre O so that

 , then  is equal to 
∠POQ = 110∘ ∠PTQ

https://dl.doubtnut.com/l/_Vk72vpVYpN8B
https://dl.doubtnut.com/l/_eTogXvJc3e3C


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

60∘

70∘

80∘

90∘

3. If tangents PA and PB from a point P to a circle

with centre O are inclined to each other at angle

https://dl.doubtnut.com/l/_eTogXvJc3e3C
https://dl.doubtnut.com/l/_gkumHO9f7JPt


of  , then find  . 


A. 

B. 

C. 

D. 

80∘ ∠POA

50∘

60∘

70∘

80∘

https://dl.doubtnut.com/l/_gkumHO9f7JPt


Ncert Corner Exercise 10 2

Answer: A

Watch Video Solution

1. Prove that the tangents drawn at the ends of a

diameter of a circle are parallel.

Watch Video Solution

https://dl.doubtnut.com/l/_gkumHO9f7JPt
https://dl.doubtnut.com/l/_Jmwho5PNI8vk


2. Prove that the perpendicular at the point of

contact
to the tangent to a circle passes through

the centre.

Watch Video Solution

3. The length of a tangent from a point A at

distance 5 cm from the centre of the circle is 4

https://dl.doubtnut.com/l/_Yw8FX30yDQJ4
https://dl.doubtnut.com/l/_OOVJMjWsIM9s


cm. Find the radius of the circle. 

Watch Video Solution

4. Two concentric circles are of radii 5 cm. and 3 c.

Find the length of the chord of the larger circle

which touches the cmaller circle.

https://dl.doubtnut.com/l/_OOVJMjWsIM9s
https://dl.doubtnut.com/l/_HHhkd2xdbBcU


Watch Video Solution

5. A quadrilateral ABCD is drawn to circumscribe a

circle. Prove that 

Watch Video Solution

AB + CD = AD + BC

6. In Fig XY and X'Y' are two parallel tangents to a

circle with centre O and another tangent AB with

point of contact C intersecting XY and X'Y' at B ,

https://dl.doubtnut.com/l/_HHhkd2xdbBcU
https://dl.doubtnut.com/l/_1oxb7vPtOT4O
https://dl.doubtnut.com/l/_o4nTGVfQMdUo


prove that  

Watch Video Solution

∠AOB = 90∘

7. Prove that the angle between the two tangents

drawn
 from an external point to a circle is

supplementary to the angle subtended by
 the

line-segment joining the points of contact at the

centre.

https://dl.doubtnut.com/l/_o4nTGVfQMdUo
https://dl.doubtnut.com/l/_ahA34EzxHIZA


Watch Video Solution

8. Prove that the parallelogram circumscribing a

circle
is a rhombus.

Watch Video Solution

9. A triangle ABC is drawn to circumscribe a circle

of
radius 4 cm such that the segments BD and DC

into which BC is divided by the
point of contact D

are of lengths 8 cm and 6 cm respectively. Find

the sides
AB and AC.

https://dl.doubtnut.com/l/_ahA34EzxHIZA
https://dl.doubtnut.com/l/_UxTZVa0YMHVO
https://dl.doubtnut.com/l/_xu0yYzeXzQqk


Ncert Exemplar Exercise 9 1 Choose The Correct

Answer

Watch Video Solution

10. Prove that opposite sides of a quadrilateral

circumscribing
 a circle subtend supplementary

angles at the centre of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_xu0yYzeXzQqk
https://dl.doubtnut.com/l/_OAmSBikFtfmq


1. If radii of two concentric circles are 4 cm and 5

cm, then length of each chord of one circle which

is tangent to the other circle, is

A. 3 cm

B. 6 cm

C. 9 cm

D. 1 cm

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_k9GFGfitSQRk
https://dl.doubtnut.com/l/_ukXKy5n8hcv8


2. In the given figure , if ,then 

 is equal to : 

A. 

B. 

C. 

D. 

∠AOB = 125∘

∠COD

62.5∘

45∘

35∘

55∘

https://dl.doubtnut.com/l/_ukXKy5n8hcv8


Answer: D

Watch Video Solution

3. In the given figure A,B is a chord of the circle

and AOC is its diameter ,such that 

.If AT is the tangent to the circle at the point A,

then  is equal to : 


∠ACB = 50∘

∠BAT

https://dl.doubtnut.com/l/_ukXKy5n8hcv8
https://dl.doubtnut.com/l/_NPwfpvfygire


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

65∘

60∘

50∘

40∘

4. From a point P which is at a distance of 13 cm

from the centre O of a circle of radius 5 cm, the

pair of tangents PQ and PR to the circle are

https://dl.doubtnut.com/l/_NPwfpvfygire
https://dl.doubtnut.com/l/_EgW0Zi4crNdk


drawn. Then the area of the quadrilateral PQOR is

:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

60cm2

65cm2

30cm2

32.5cm2

https://dl.doubtnut.com/l/_EgW0Zi4crNdk


5. At one end
 of a diameter 
 of a circle
 of

radius 5cm, tangent 
 is drawn to
 the circle.

The length of chord 
parallel to
 
 and at a

distance of 8cm from 
is
(a)
5cm (b) 6cm (c) 7cm

(d) 8cm

A. 4 cm

B. 5 cm

C. 6 cm

D. 8 cm

Answer: D

W h Vid S l i

PQ

XPY

AB XY

P

https://dl.doubtnut.com/l/_VP0g8aHPaZCC


Watch Video Solution

6. In the given figure ,AT is a tangent to the circle

with centre O such that OT =4 cm and

 .Then AT is equal to : 


A. 4 cm

B. 2 cm

∠OTA = 30∘

https://dl.doubtnut.com/l/_VP0g8aHPaZCC
https://dl.doubtnut.com/l/_0oLgsI41yksL


C.  cm

D.  cm

Answer: C

Watch Video Solution

2√3

4√3

7. In the given figure ,'O is the centre of circle ,PQ

is a chord and the tangent PR at P makes an

https://dl.doubtnut.com/l/_0oLgsI41yksL
https://dl.doubtnut.com/l/_jGf4XgSkZsgD


angle of  with PQ ,then  is equal to : 

A. 

B. 

C. 

D. 

Answer: A

50∘ ∠POQ

100∘

80∘

90∘

75∘

https://dl.doubtnut.com/l/_jGf4XgSkZsgD


Watch Video Solution

8. In figure, if  and  are tangents to the

circle with centre  such that ,

then  is equal to 

A. 

B. 

C. 

PA PB

O ∠APB = 50∘

∠OAB

25∘

30∘

40∘

https://dl.doubtnut.com/l/_jGf4XgSkZsgD
https://dl.doubtnut.com/l/_bljSwIa4j8c4


D. 

Answer: A

Watch Video Solution

50∘

9. If two tangents inclined at an angle  are

drawn to a circle of radius 3 cm, then, the length

of each tangent is equal to 

60∘

https://dl.doubtnut.com/l/_bljSwIa4j8c4
https://dl.doubtnut.com/l/_b3QvazXfffS2


A.  cm

B. 6 cm

C. 3 cm

D.  cm

Answer: D

Watch Video Solution

√3
3

2

3√3

10. In figure, if PQR is the tangent to a circle at Q

whose centre is O, AB is a chord parallel to PR and

https://dl.doubtnut.com/l/_b3QvazXfffS2
https://dl.doubtnut.com/l/_DbzNSYfVch15


 then  is equal to 


A. 

B. 

C. 

D. 

Answer: B

∠BQR = 70∘ ∠AQB

20∘

40∘

35∘

45∘

https://dl.doubtnut.com/l/_DbzNSYfVch15


Ncert Exemplar Exercise 9 2 Write True Or False And

Justify Your Solution

Watch Video Solution

1. If a chord  subtends and angle of  at the

centre of a circle, then the angle between the

tangents to the circle drawn from  and  is

Watch Video Solution

AB 60∘

A B

2. The length of tangent from an external point

on a circle is always greater than the radius of

https://dl.doubtnut.com/l/_DbzNSYfVch15
https://dl.doubtnut.com/l/_YGluqJOuA46q
https://dl.doubtnut.com/l/_AgpY35lmBHdL


the circle.

Watch Video Solution

3. The length of tangent from an external point P

on a circlewith centre 0 is always less than OP.

Watch Video Solution

4. The angle between two tangents to a circle

may be .

Watch Video Solution

0∘

https://dl.doubtnut.com/l/_AgpY35lmBHdL
https://dl.doubtnut.com/l/_EaOQBTZtglOj
https://dl.doubtnut.com/l/_m7v2ZQ7tsV4R


5. If angle between two tangents drawn from a

point P to a circle of radius a and centre 0 is 

then .

Watch Video Solution

60∘

OP = a√3

6. If angle between two tangents drawn from a

point P to a circle of radius a and centre 0 is 

then .

Watch Video Solution

60∘

OP = a√3

https://dl.doubtnut.com/l/_AvlVN4Dz0Fe7
https://dl.doubtnut.com/l/_HPnDuYbZQ1i0


7. The tangent to the circumcircle of an isosceles

 at A, in which AB= AC, is parallel to BC.

Watch Video Solution

ΔABC

8. If a number of circles touch line segment PQ at

a point A then , their centres lie on the

perpendicular bisector of PQ. State True or False

Watch Video Solution

https://dl.doubtnut.com/l/_etRvKASBGGke
https://dl.doubtnut.com/l/_cUsfLjsvdJfJ


9. If a number of circles pass through the end

points P and Q of a line segment PQ, then their

centres lie on the perpendicular bisector of PQ.

Watch Video Solution

10. AB is a diameter of a circle and AC is its chord

such that . If the tengent at C

intersects AB extended at D, then BC=BD.

Watch Video Solution

∠BAC = 30∘

https://dl.doubtnut.com/l/_wJGUD5NL2m30
https://dl.doubtnut.com/l/_VOqZsY4qCg6M


Ncert Exemplar Exercise 9 3

1. Out of the 2 concentric circle the radius of the

outer circle is 5 cm and the chord AC of the

length 8 cm is a tangent to the inner circle find

the radius of the inner circle

Watch Video Solution

2. Two tangents PQ and PR are drawn from an

external point to a circle with centre 0. Prove that

QORP is cyclic quadrileral.

W h Vid S l i

https://dl.doubtnut.com/l/_SvZHh6coK3cG
https://dl.doubtnut.com/l/_aRtaFZHrzaty


Watch Video Solution

3. If from an extrenal point B of a circle with

centre 0, two tangents BC and BD are drawn such

that , prove that 

 i.e., BO=2BC.

Watch Video Solution

∠DBC = 120∘

BC + BD = BO

4. Prove that the centre of a circle touching two

intersecting lines lies on the angle bisector of the

lines.

Watch Video Solution

https://dl.doubtnut.com/l/_aRtaFZHrzaty
https://dl.doubtnut.com/l/_MjFBpbuUYZco
https://dl.doubtnut.com/l/_goNlkiTglIDg


Watch Video Solution

5. In figure, AB and CD are common tangents to

two circles of unequal radii. Prove that AB=CD 

Watch Video Solution

6. In figure, AB and CD are common tangents to

two circles of equal radii. Prove that AB=CD. 

https://dl.doubtnut.com/l/_goNlkiTglIDg
https://dl.doubtnut.com/l/_8lnRp2dPA1mI
https://dl.doubtnut.com/l/_4qCwRVlv0tKw


Watch Video Solution

7. In figure, common tangents AB and CD to two

circles intersect at E. Prove that AB=CD. 

https://dl.doubtnut.com/l/_4qCwRVlv0tKw
https://dl.doubtnut.com/l/_bQTp3ZdDr9Sm


Watch Video Solution

8. A chord PQ of a circle is parallel to the tangent

drawn at a point R of the circle,Prove that R

bisects the arc 

Watch Video Solution

PRQ.

9. Prove that the tangents drawn at the end

points of a chord of a circle make equal angles

with the chord.

Watch Video Solution

https://dl.doubtnut.com/l/_bQTp3ZdDr9Sm
https://dl.doubtnut.com/l/_FsembAx89Hg6
https://dl.doubtnut.com/l/_A6vWAsrHZzHp


Ncert Exemplar Exercise 9 4

10. Prove that a diameter AB of a circle bisects all

those chords which are parllel to the tangent at

the point A.

Watch Video Solution

1. In a hexagon ABCDEF circumscribe a circle,

prove that

AB + CD + EF = BC + DE + FA.

https://dl.doubtnut.com/l/_A6vWAsrHZzHp
https://dl.doubtnut.com/l/_hm46xf6xzWsc
https://dl.doubtnut.com/l/_ekCWmtEZZXmL


Watch Video Solution

2. Let s denotes the semi-perimeter of a 

in which BC=a, CA=b and AB=c. If a circle touches

the sides BC, CA, AB, at D, E, F, respectively. Prove

that BD=s-b.

Watch Video Solution

ΔABC

3. From an external point P, two tangents, PA and

PB are drawn to a circle with centre 0. At one

point E on the circle tangent is drawn which

https://dl.doubtnut.com/l/_ekCWmtEZZXmL
https://dl.doubtnut.com/l/_VIN7NwTebNr5
https://dl.doubtnut.com/l/_bTiHAaxBDAWb


intersects PA and PB at C and D, respectively. If

PA=10 cm, find the preimeter of the trianlge PCD.

Watch Video Solution

4. If AB is chord of a circle with centre O, AOC is a

diameter and AT is the tangent at A as shown in

figure. Prove that  
∠BAT = ∠ACB.

https://dl.doubtnut.com/l/_bTiHAaxBDAWb
https://dl.doubtnut.com/l/_KXC1P3TDcSXQ


Watch Video Solution

5. Two circles with centres O and O' of radii 3 cm

and 4 cm , respectively intersect at two points P

and Q such that OP and O'P are tangents to the

two circle . Find the length of the common chord

PQ.

Watch Video Solution

6. In a right angle triangle  is which 

 a circle is drawn with AB diameter

ΔABC

∠B = 90∘

https://dl.doubtnut.com/l/_KXC1P3TDcSXQ
https://dl.doubtnut.com/l/_cs5381zwsi52
https://dl.doubtnut.com/l/_9j95lFRrPZ0a


intersecting the hypotenuse AC at P.Prove that

the tangent to the circle at PQ bisects BC.

Watch Video Solution

7. In figure, tangents PQ and PR are drawn to a

circle such that . A chord RS is

drawn parallel to the tangent PQ. Find the 

.

∠RPQ = 30∘

∠RQS

https://dl.doubtnut.com/l/_9j95lFRrPZ0a
https://dl.doubtnut.com/l/_MgLJd01PNbXY


Watch Video Solution

8. AB is a diameter of a circle and AC is its chord

such that . If the tengent at C

intersects AB extended at D, then BC=BD.

Watch Video Solution

∠BAC = 30∘

9. Prove that tangent drawn at the mid point of

the are of a circle is pallelar to the chord joing

the ends of point of the are

Watch Video Solution

https://dl.doubtnut.com/l/_MgLJd01PNbXY
https://dl.doubtnut.com/l/_ATLLIh0v3JwF
https://dl.doubtnut.com/l/_CcUZnlnZt8Vy


10. In a figure the common tangents, AB and CD

to two circles with centers O and O' intersect at E.

Prove that the points O, E and O' are collinear. 

Watch Video Solution

11. 
is the centre of a circle of radius 
 
is a

point such that 
 intersects

O 5cm. T

OT = 13cmandOT

https://dl.doubtnut.com/l/_CcUZnlnZt8Vy
https://dl.doubtnut.com/l/_ToLdKps6NA52
https://dl.doubtnut.com/l/_LoCjoygHHild


the circle at 
 If 
 is the tangent to the circle

at 
find length of 

Watch Video Solution

E. AB

E, AB.

12. The tangent at a point C of a circle and a

diameter AB when extended intersect at P. If

.

Watch Video Solution

∠PCA = 110∘ find∠CBA

13. If an isosceles triangle 
 in which 


 is inscribed in a circle of

ABC

AB = AC = 6cm

https://dl.doubtnut.com/l/_LoCjoygHHild
https://dl.doubtnut.com/l/_HXt4DhBCYAl1
https://dl.doubtnut.com/l/_FRmbFEbtiyeY


radius 
find the area of the triangle.

Watch Video Solution

9cm,

14. A is a point at a distance 13 cm from the

centre O of a circle of radius 5 cm. AP and AQ are

the tangents to the circle at P and Q. If a tangent

BC is drawn at a point R lying on the minor arc PQ

to intersect AP at Band AQ at C, find the

perimeter of the 

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_FRmbFEbtiyeY
https://dl.doubtnut.com/l/_zqEEvkDLWpZ2


Board Corner Very Short Solution Type Questions

Board Corner Short Solution Type Questions

1. If the angle between two tangents drawn from

an external point P to a circle of radius 'a' and

center O , is  then find the length of OP.

Watch Video Solution

60∘ ,

1. 
 is a chord
 of length 8 cm of a circle of

radius 5 cm. The tangents at 
and 
intersect
at

PQ

P Q

https://dl.doubtnut.com/l/_kg6vkkxZURZU
https://dl.doubtnut.com/l/_gdmDjeRQLmWU


a point 
. Find the
length 
.

Watch Video Solution

T TP

2. A circle is inscribed in  PQR having sides 8 cm,

10 cm and 12 cm. A circle touches the sides PQ, QR

and RP at D, E and F. Find PD

Watch Video Solution

Δ

3. PQ and RS are two parallel tangents to a circle

with centre O and another tangent AB wih point

https://dl.doubtnut.com/l/_gdmDjeRQLmWU
https://dl.doubtnut.com/l/_l6OVGJExQeYY
https://dl.doubtnut.com/l/_GDRrZPH2Sqkt


of contact C intersect PQ at A and RS at B. then

find 

Watch Video Solution

∠AOB

4. Theorem 10.2 : The lengths of tangents drawn

from an external point to a circle are equal.

Watch Video Solution

5. In the given figure, PA and PB are tangents to

the circle from an external point P. CD is another

tangent touching the circle at Q. If PA =12 cm,

https://dl.doubtnut.com/l/_GDRrZPH2Sqkt
https://dl.doubtnut.com/l/_yePj9iZawyAM
https://dl.doubtnut.com/l/_poRJk7lxCznb


QC=3cm, then find PC+PD. 

Watch Video Solution

6. Prove that the tangents drawn at the ends of a

diameter of a circle are parallel.

https://dl.doubtnut.com/l/_poRJk7lxCznb
https://dl.doubtnut.com/l/_GOqpymkeRVku


Watch Video Solution

7. In figure, AB and CD are common tangents to

two circles of unequal radii. Prove that AB=CD 

Watch Video Solution

8. Prove that the tangents drawn at the end

points of a chord of a circle make equal angles

https://dl.doubtnut.com/l/_GOqpymkeRVku
https://dl.doubtnut.com/l/_8uzuiKdvOshV
https://dl.doubtnut.com/l/_gto5wNos7AFa


with the chord.

Watch Video Solution

9. A circle touches all the four sides of a

quadrilateral ABCD. Prove that AB + CD = BC + DA

Watch Video Solution

10. Two
 tangents 
 and 
 are drawn
 to a

circle with centre 
 from an
 external point 
 .

Prove
that 
.

Watch Video Solution

TP TQ

O T

∠PTQ = 2∠OPQ

https://dl.doubtnut.com/l/_gto5wNos7AFa
https://dl.doubtnut.com/l/_ZUVx72MD6aXs
https://dl.doubtnut.com/l/_5rmiGvadgIGG


Multiple Choice Questions

Watch Video Solution

1. In the given figure, a quadrilateral ABCD is

drawn to circumscribe a circle such that its sides

AB, BC, CD and AD touch the circle at P, Q, R and S

respectively. If AB = x cm, BC = 7 cm, CR = 3 cm and

https://dl.doubtnut.com/l/_5rmiGvadgIGG
https://dl.doubtnut.com/l/_6syWHdWjPx83


AS = 5 cm, find x. 

A. 19

B. 9

C. 8

D. 7

https://dl.doubtnut.com/l/_6syWHdWjPx83


Answer: B

View Text Solution

2. Two concentric circles have radii 5 cm and 3 cm.

Find the length of the chord of the larger circle

which touches the smaller (circle at a point).

A. 4

B. 5

C. 8

D. 10

https://dl.doubtnut.com/l/_6syWHdWjPx83
https://dl.doubtnut.com/l/_Dpym8NOY7OuD


Answer: C

View Text Solution

3. A chord of a circle of radius 10 cm subtends a

right angle at its centre. The length of the chord

(in cm) is:

A. 

B. 

C. 

D. 

5√2

10√2

5

√2

10√3

https://dl.doubtnut.com/l/_Dpym8NOY7OuD
https://dl.doubtnut.com/l/_0IavZl6QMLA6


Answer: B

View Text Solution

4. Two circles touch each other externally at P. AB

is a common tangent to the circles, touching

them at A and B. The value of  is:

A. 

B. 

C. 

D. 

∠APB

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_0IavZl6QMLA6
https://dl.doubtnut.com/l/_dv4BdV6badAG


Answer: D

View Text Solution

5. In the given figure, QR is a common tangent to

the given circles, touching externally at point T,

The tangent at T meets QR at P. If PT = 3.8 cm,

then the length of QR (in cm) is : 

A. 3.8

https://dl.doubtnut.com/l/_dv4BdV6badAG
https://dl.doubtnut.com/l/_Sw7M1XwjgENk


B. 7.6

C. 5.7

D. 1.9

Answer: B

View Text Solution

6. In the given figure, PQ and PR are two tangents

to a circle with centre O. If , then ∠QPR = 46∘

https://dl.doubtnut.com/l/_Sw7M1XwjgENk
https://dl.doubtnut.com/l/_COfVNpWo6hqY


 equals: 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∠QOR

67∘

134∘

44∘

46∘

https://dl.doubtnut.com/l/_COfVNpWo6hqY


7. In the given figure, if , then 

 is equal to: 


A. 

B. 

C. 

D. 

∠AOD = 135∘

∠BOC

52.5∘

45∘

62.5∘

25∘

https://dl.doubtnut.com/l/_COfVNpWo6hqY
https://dl.doubtnut.com/l/_PIjdpFZ5DSiO


Answer: B

View Text Solution

8. In the given figure, two circles touch each other

at C and AB is a tangent to both circles. Then,

 equal to : 


A. 

∠ACB

60∘

https://dl.doubtnut.com/l/_PIjdpFZ5DSiO
https://dl.doubtnut.com/l/_lq16CoBwhwcM


B. 

C. 

D. 

Answer: B

View Text Solution

45∘

120∘

90∘

9. In the given figure, PA and PB are two tangents

drawn from an external point P to a circle with

centre C and radius 4 cm. If PA is perpendicular to

https://dl.doubtnut.com/l/_lq16CoBwhwcM
https://dl.doubtnut.com/l/_BJlGGIWIMJ0c


PB, then the length of each tangent is : 

A. 3 cm

B. 4 cm

C. 5 cm

D. 6 cm

Answer: B

https://dl.doubtnut.com/l/_BJlGGIWIMJ0c


View Text Solution

10. In the given figure, a circle with centre O is

inscribed in a quadrilateral ABCD such that it

touches the side BC, AB, AD and CD at points P, Q,

R and S respectively. If AB = 29 cm, AD =23 cm,

 and DS = 5 cm, then the radius of the∠B = 90∘

https://dl.doubtnut.com/l/_BJlGGIWIMJ0c
https://dl.doubtnut.com/l/_KglOqQDUZK22


circle (in cm) is : 

A. 11

B. 18

C. 6

D. 5

Answer: A

https://dl.doubtnut.com/l/_KglOqQDUZK22


View Text Solution

11. From a point Q, 13 cm away from the centre of

a circle, the length of tangent PQ to the circle is

12 cm. The radius of the circle (in cm) is:

A. 25

B. 

C. 5

D. 1

Answer: C

√313

https://dl.doubtnut.com/l/_KglOqQDUZK22
https://dl.doubtnut.com/l/_op0BbzqDA4jS


View Text Solution

12. In the given figure, AP, AQ and BC are tangents

to the circle. If AB « 5 cm, AC = 6 cm and BC = 4 cm,

then the length of AP (in cm) is : 

https://dl.doubtnut.com/l/_op0BbzqDA4jS
https://dl.doubtnut.com/l/_IrbKsk6NuCuN


A. 7.5

B. 15

C. 10

D. 9

Answer: A

View Text Solution

13. In the given figure, the sides AB, BC and CA of

a triangle ABC touch a circle at P, Q and R

respectively. If PA = 4 cm, BP = 3 cm and AC = 11 cm,

https://dl.doubtnut.com/l/_IrbKsk6NuCuN
https://dl.doubtnut.com/l/_wC48YlnPaTXj


then the length of BC (in cm) is : 

A. 11

B. 10

C. 14

D. 15

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_wC48YlnPaTXj


14. In the given figure, O is the centre of the circle,

PQ is a chord and PT is the tangent at P. If

 then  equals to: 


A. 

B. 

∠POQ = 70∘ ∠TPQ

70∘

45∘

https://dl.doubtnut.com/l/_wC48YlnPaTXj
https://dl.doubtnut.com/l/_zVHrkEJeZcue


C. 

D. 

Answer: D

View Text Solution

90∘

35∘

15. In the given figure, AB and AC are tangents to

the circle with centre O such that .∠BAC = 40∘

https://dl.doubtnut.com/l/_zVHrkEJeZcue
https://dl.doubtnut.com/l/_VPsYQ0vELr8U


Then  is equal to: 


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∠BOC

40∘

50∘

140∘

150∘

https://dl.doubtnut.com/l/_VPsYQ0vELr8U


16. In the given figure, O is the centre of the circle,

AB is the chord and AT is the tangent at A. If

, then  is equal to- 


A. 

B. 

C. 

∠AOB = 100∘ ∠BAT

100∘

40∘

50∘

https://dl.doubtnut.com/l/_EMpNUSnzYqf5


D. 

Answer: C

View Text Solution

90∘

17. In the given figure, PA and PB are tangents to

the circle with centre O. If , then ∠APB = 60∘

https://dl.doubtnut.com/l/_EMpNUSnzYqf5
https://dl.doubtnut.com/l/_U9TVtnr0Srbq


 is : 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∠OAB

30∘

60∘

90∘

15∘

https://dl.doubtnut.com/l/_U9TVtnr0Srbq


View Text Solution

18. In the given figure, point P is 26 cm away from

the centre O of a circle and the length PT of the

tangent drawn from P to the circle is 24 cm. Then,

the radius of the circle (in cm) is : 

A. 25

B. 26

https://dl.doubtnut.com/l/_U9TVtnr0Srbq
https://dl.doubtnut.com/l/_iFRkijddrtOo


C. 24

D. 10

Answer: D

View Text Solution

19. In the given figure, TP and QT are two

tangents to a circle with centre O such that

https://dl.doubtnut.com/l/_iFRkijddrtOo
https://dl.doubtnut.com/l/_dT21Cpkss2iX


. Then  is equal to- 


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∠POQ = 110∘ ∠PTQ

55∘

70∘

110∘

90∘

https://dl.doubtnut.com/l/_dT21Cpkss2iX


20. In the given figure, DE and DF are tangents

from the external point D to a circle with centre

A. If DE = 5 cm and DE is perpendicular to DP, then

the radius of the circle is : 

A. 3 cm

B. 5 cm

https://dl.doubtnut.com/l/_dT21Cpkss2iX
https://dl.doubtnut.com/l/_ULRqg9srbWvy


C. 4 cm

D. 6 cm

Answer: B

View Text Solution

21. In the given figure, a circle with centre O is

inscribed in a quadrilateral ABCD such that it

touches sides BC, AB, AD and CD at points P, Q, R

and S respectively. If AB = 29 cm, AD = 23 cm,

 and DS = 5 cm, then the radius of the∠B = 90∘

https://dl.doubtnut.com/l/_ULRqg9srbWvy
https://dl.doubtnut.com/l/_pmVdq31q7CPx


circle (in cm) is : 

A. 11

B. 18

C. 6

D. 15

Answer: A

https://dl.doubtnut.com/l/_pmVdq31q7CPx


View Text Solution

22. If radii of two concentric circles are 4 cm and 5

cm, then the length of each chord of one circle

which is tangent to the other circle is :

A. 3 cm

B. 6 cm

C. 9 cm

D. 1 cm

Answer: B

https://dl.doubtnut.com/l/_pmVdq31q7CPx
https://dl.doubtnut.com/l/_c2dJJYjtipeb


View Text Solution

23. In figure if , then  is

equal to: 

A. 

B. 

C. 

∠AOB = 125∘ ∠COD

62.5∘

45∘

35∘

https://dl.doubtnut.com/l/_c2dJJYjtipeb
https://dl.doubtnut.com/l/_qVG9IbMcI3Cj


D. 

Answer: D

View Text Solution

55∘

24. In figure, AB is a chord of the circle AOC is its

diameter such that . If AT is the

tangent to the circle at the point A, then 

∠ACB = 50∘

∠BAT

https://dl.doubtnut.com/l/_qVG9IbMcI3Cj
https://dl.doubtnut.com/l/_EIrTpH9BqMXS


is equal to: 

A. 

B. 

C. 

D. 

Answer: C

65∘

60∘

50∘

40∘

https://dl.doubtnut.com/l/_EIrTpH9BqMXS


View Text Solution

25. From a point P which is at a distance of 13 cm

from the centre O of a circle of radius 5 cm, the

pair of tangents PQ and PR to the circle are

drawn. Then the area of the quadrilateral PQOR

is:

A. 

B. 

C. 

D. 

60cm2

65cm2

30cm2

32.5cm2

https://dl.doubtnut.com/l/_EIrTpH9BqMXS
https://dl.doubtnut.com/l/_AGOU26reFeez


Answer: A

View Text Solution

26. PA and PB are tangents to the circle drawn

from an external point P. CD is the third tangent

touching the circle at Q. If PB = 12 cm and CQ = 3

cm, then the length of PC will be: 

https://dl.doubtnut.com/l/_AGOU26reFeez
https://dl.doubtnut.com/l/_1xMm6ER1Ny3Q


A. 8 cm

B. 9 cm

C. 6 cm

D. 4 cm

Answer: B

View Text Solution

27. The tangent of a circle makes-angle with

radius at point of contact:

A. 45∘

https://dl.doubtnut.com/l/_1xMm6ER1Ny3Q
https://dl.doubtnut.com/l/_4RXsDJAWCVR9


B. 

C. 

D. 

Answer: C

View Text Solution

30∘

90∘

60∘

28. Form the point A at a distance of 5 cm from

the centre of a circle is 4 cm. What is the radius

https://dl.doubtnut.com/l/_4RXsDJAWCVR9
https://dl.doubtnut.com/l/_3nhTtME8O7PY


of the circle ? 

A. 3 cm

B. 2 cm

C. 1 cm

D. 0 cm

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_3nhTtME8O7PY


29. The angle subtended by the diameter of a

semicircle is :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

90∘

45∘

180∘

60∘

https://dl.doubtnut.com/l/_pJdSJax3xHti


30. If chords AB and CD of congruent circles

subtend equal angles at their centres, then :

A. AB = CD

B. 

C. 

D. None of these

Answer: A

View Text Solution

AB > CD

AB < AD

https://dl.doubtnut.com/l/_0iMthQpMrpfF


31. In the given figure, BOC is a diameter of a

circle with centre O. If AB and CD are two chords

such that AB = CD. If AB = 10 cm, then CD = ? 

A. 5 cm

B. 12.5 cm

C. 15 cm

https://dl.doubtnut.com/l/_ZQlGL5ZkuAtw


D. 10 cm

Answer: D

View Text Solution

32. In the given figure, AB is a chord of a circle

with centre O and AB is produced to C such that

BC = OB. Also, CO is joined and produced to meet

the circle in D. If , then ∠ACD = 25∘ ∠AOD =

https://dl.doubtnut.com/l/_ZQlGL5ZkuAtw
https://dl.doubtnut.com/l/_iJ5rMtI65RpX


? 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

50∘

75∘

90∘

100∘

https://dl.doubtnut.com/l/_iJ5rMtI65RpX


33. In the given figure, AB is a chord of a circle

with centre O and BOC is a diameter. If

 such that OD = 6 cm, then AC = ? 


A. 9 cm

B. 12 cm

OD ⊥ AB

https://dl.doubtnut.com/l/_iJ5rMtI65RpX
https://dl.doubtnut.com/l/_ECKIHgLTOa9G


C. 15 cm

D. 7.5 cm

Answer: B

View Text Solution

34. An equilateral triangle of side 9 cm is

inscribed in a circle. The radius of the circle is :

A. 3 cm

B.  cm

C.  cm

3√2

3√3

https://dl.doubtnut.com/l/_ECKIHgLTOa9G
https://dl.doubtnut.com/l/_2xOMpgh1avOg


D. 6 cm

Answer: C

View Text Solution

35. In the given figures,  and 

are inscribed in a circle such that 

△ ABC △ DBC

∠BAC = 60∘

https://dl.doubtnut.com/l/_2xOMpgh1avOg
https://dl.doubtnut.com/l/_cXEY4OSB6Lo4


and . Then,  = ? 


A. 

B. 

C. 

D. 

Answer: C

∠DBC = 50∘ ∠BCD

50∘

60∘

70∘

80∘

https://dl.doubtnut.com/l/_cXEY4OSB6Lo4


View Text Solution

36. In the given figure, BOC is a diameter of a

circle with centro O. If , then find 

. 


A. 

∠BCA = 30∘

∠CDA

30∘

https://dl.doubtnut.com/l/_cXEY4OSB6Lo4
https://dl.doubtnut.com/l/_FCONoK1BNq68


B. 

C. 

D. 

Answer: C

View Text Solution

45∘

60∘

50∘

37. In the given figure, O is the centre of a circle. If

 then  = ? 
∠OAC = 50∘ ∠ODB

https://dl.doubtnut.com/l/_FCONoK1BNq68
https://dl.doubtnut.com/l/_HbhZpbj0C63L


A. 

B. 

C. 

D. 

Answer: B

40∘

50∘

60∘

75∘

https://dl.doubtnut.com/l/_HbhZpbj0C63L


View Text Solution

38. In the given figure, O is the centre of a circle in

which  and . Then, 

? 


A. 

∠OBA = 20∘ ∠OCA = 30∘

∠BOC =

50∘

https://dl.doubtnut.com/l/_HbhZpbj0C63L
https://dl.doubtnut.com/l/_YRUeAWQGxGWo


B. 

C. 

D. 

Answer: C

View Text Solution

90∘

100∘

130∘

39. In the given figure, side AB and AD of quad.

ABCD are produced to E and F respectively. If

https://dl.doubtnut.com/l/_YRUeAWQGxGWo
https://dl.doubtnut.com/l/_S0jZvcyT1fb3


, then  = ? 


A. 

B. 

C. 

D. 

Answer: B

Vi T S l i

∠CBE = 100∘ ∠CDF

100∘

80∘

130∘

90∘

https://dl.doubtnut.com/l/_S0jZvcyT1fb3


View Text Solution

40. From a point Q, the length of the tangent to a

circle is 24 cm and the distance of Q from the

centre is 25 cm. The radius of the circle is :

A. 7 cm

B. 12 cm

C. 15 cm

D. 24.5 cm

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_S0jZvcyT1fb3
https://dl.doubtnut.com/l/_JYtTelUyEWWb


41. The length of the tangent from a point A at a

circle, of radius 3 cm, is 4 cm. The distance of A

from the centre of the circle is :

A.  cm

B. 7 cm

C. 5 cm

D. 25 cm

Answer: C

View Text Solution

√7

https://dl.doubtnut.com/l/_JYtTelUyEWWb
https://dl.doubtnut.com/l/_0Mtf22d269xi


42. If TP and TQ are two tangents to a circle with

centre O so that , then,  is

equal to :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∠POQ = 110∘ ∠PTQ

60∘

70∘

80∘

90∘

https://dl.doubtnut.com/l/_0Mtf22d269xi
https://dl.doubtnut.com/l/_2QrzAFtGE5nk


43. PQ is a tangent to a circle with centre O at the

point P. If  is an isosceles triangle, then 

 is equal to :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

△ OPQ

∠OQP

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_VcHVLnqwSBbt
https://dl.doubtnut.com/l/_CEecg9uvq5iX


44. ABC is a right angled triangle, right angled at

B such that BC = 6 cm and AB = 8 cm. A circle with

centre O is incribed in . The radius of

the circle is :

A. 1 cm

B. 2 cm

C. 3 cm

D. 4 cm

Answer: B

View Text Solution

△ ABC

https://dl.doubtnut.com/l/_CEecg9uvq5iX


45. In the Fig., if TP and TQ are the two tangents

to a circle with ccentre O so that ,

then  is equal to :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∠POQ = 110∘

∠PTQ

60∘

70∘

80∘

90∘

https://dl.doubtnut.com/l/_jxqEcUyLCdbF
https://dl.doubtnut.com/l/_BTiOiVcHvuOQ


46. If tangents PA and PB from a point P to a circle

with centre O are inclined to each other at angle

of , then  is equal to :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

80∘ ∠POA

50∘

60∘

70∘

80∘

https://dl.doubtnut.com/l/_BTiOiVcHvuOQ
https://dl.doubtnut.com/l/_7gfA2ADRn0Br


47. A tangent PQ at a point P of a circle of radius

5 cm meets a line through the centre O at a point

Q so that OQ = 12 cm. Length PQ is :

A. 12 cm

B. 13 cm

C. 8.5 cm

D.  cm

Answer: D

View Text Solution

√119

https://dl.doubtnut.com/l/_7gfA2ADRn0Br


48. In the given figure , a quadrilateral ABCD is

drawn to circumscribe a circle such that its sides

AB, BC , CD and AD touch the circle at P,Q,R and S

respectively . If AB = x cm , BC = 7 cm , CR = 3m and

AS = 5 cm , find x . 

A. 10 cm

https://dl.doubtnut.com/l/_7Cf2dYB40mQu


B. 9 cm

C. 8 cm

D. 7 cm

Answer: B

View Text Solution

49. Two concentric circles have radii 5 cm and 3

cm Find the length of the chord of the larger

circle which touches the smaller circle (at a point)

A. 4 cm

https://dl.doubtnut.com/l/_7Cf2dYB40mQu
https://dl.doubtnut.com/l/_TI05OOO5EhCf


B. 5 cm

C. 8 cm

D. 10 cm

Answer: C

View Text Solution

50. Two circles touch each other externally at P.AB

is a common tangent to the circles, touching

them at A and B. The value of  is:

A. 

∠APB

30∘

https://dl.doubtnut.com/l/_TI05OOO5EhCf
https://dl.doubtnut.com/l/_DkHnIQjr9TyE


B. 

C. 

D. 

Answer: D

View Text Solution

45∘

60∘

90∘

51. In the given figure, QR is a common tangent to

the given circles, touching externally at point T.

The tangent at T meets QR at P. If PT = 3.8 cm,

https://dl.doubtnut.com/l/_DkHnIQjr9TyE
https://dl.doubtnut.com/l/_ZlDcAS84GzZZ


then the length of QR (in cm) is: 

A. 3.8

B. 7.6

C. 5.7

D. 1.9

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_ZlDcAS84GzZZ


52. In the given figure, if , then 

 is equal to: 

A. 

B. 

C. 

D. 

∠AOD = 135∘

∠BOC

52.5∘

45∘

62.5∘

25∘

https://dl.doubtnut.com/l/_ZlDcAS84GzZZ
https://dl.doubtnut.com/l/_IQW6Ra9HaBAG


Answer: B

View Text Solution

53. In the given figure, PA and PB are two

tangents drawn from an external point P to a

circle with centre C and radius 4 cm. If PA is

perpendicular to PB, then the length of each

https://dl.doubtnut.com/l/_IQW6Ra9HaBAG
https://dl.doubtnut.com/l/_6AMQvnEbCZqq


tangent is: 

A. 3 cm

B. 4 cm

C. 5 cm

D. 6 cm

Answer: B

https://dl.doubtnut.com/l/_6AMQvnEbCZqq


View Text Solution

54. In the given figure, a circle with centre O is

inscribed in a quadrilateral ABCD such that it

touches the side BC, AB, AD and CD at points P, Q,

R and S respectively. If AB = 29 cm, AD = 23 cm,

 and DS = 5 cm, then the radius of the∠B = 90∘

https://dl.doubtnut.com/l/_6AMQvnEbCZqq
https://dl.doubtnut.com/l/_JijBcHMXhan0


circle (in cm) is: 

A. 11

B. 18

C. 6

D. 5

https://dl.doubtnut.com/l/_JijBcHMXhan0


Answer: A

View Text Solution

55. From a point Q, 13 cm away from the centre of

a circle, the length of tangent PQ to the circle is

12 cm. The radius of the circle (in cm) is: 

A. 25

https://dl.doubtnut.com/l/_JijBcHMXhan0
https://dl.doubtnut.com/l/_K7IcjtrUi6Vm


B. 

C. 5

D. 1

Answer: C

View Text Solution

√313

56. In the given figure, AP, AQ and BC are tangents

to the circle. If AB = 5 cm, AC = 6 cm and BC = 4 cm,

https://dl.doubtnut.com/l/_K7IcjtrUi6Vm
https://dl.doubtnut.com/l/_xDZskl3lzvA8


then the length of AP (in cm) is: 

A. 

B. 15

C. 10

D. 9

7.5

https://dl.doubtnut.com/l/_xDZskl3lzvA8


Answer: A

View Text Solution

57. In the given figure, the sides AB, BC and CA of

a triangle ABC touch a circle at P, Q and R

respectively. If PA = 4 cm, BP = 3 cm and AC = 11 cm,

https://dl.doubtnut.com/l/_xDZskl3lzvA8
https://dl.doubtnut.com/l/_6GOg6qb1PIaU


then the length of BC (in cm) is: 

A. 11

B. 10

C. 14

D. 15

https://dl.doubtnut.com/l/_6GOg6qb1PIaU


Answer: B

View Text Solution

58. In the given figure, O is the centre of the

circle, PQ is a chord and PT is the tangent at P. If

 , then  equals to: ∠POQ = 70∘ ∠TPQ

https://dl.doubtnut.com/l/_6GOg6qb1PIaU
https://dl.doubtnut.com/l/_wgn3SPoqEaC8


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

70∘

45∘

90∘

35∘

59. In the given figure, AB and AC are tangents to

the circle with centre o such that .

Then  is equal to:

∠BAC = 40∘

∠BOC

https://dl.doubtnut.com/l/_wgn3SPoqEaC8
https://dl.doubtnut.com/l/_NN9fjCWL5sA8


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

40∘

50∘

140∘

150∘

60. In the given figure, PA and PB are tangents to

the circle with centre O. If , then ∠APB = 60∘

https://dl.doubtnut.com/l/_NN9fjCWL5sA8
https://dl.doubtnut.com/l/_X1XzuqfNDrS2


 is: 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∠OAB

30∘

60∘

90∘

15∘

https://dl.doubtnut.com/l/_X1XzuqfNDrS2


61. From a point P which is at a distance of 13 cm

from the centre O of a circle of radius 5 cm, the

pair of tangents PQ and PR to the circle are

drawn. Then the area of the quadrilateral PQOR

is:

A. 

B. 

C. 

D. 

60cm2

65cm2

30cm2

32.5cm2

https://dl.doubtnut.com/l/_X1XzuqfNDrS2
https://dl.doubtnut.com/l/_SuvcThWPttG3


Answer: A

View Text Solution

62. PA and PB are tangents to the circle drawn

from an external point P. CD is the third tangent

touching the circle at Q. If PB = 12 cm and CQ = 3

https://dl.doubtnut.com/l/_SuvcThWPttG3
https://dl.doubtnut.com/l/_pOogcCs3G2M8


cm, then the length of PC will be: 

A. 8 cm

B. 9 cm

C. 6 cm

D. 4 cm

Answer: B

https://dl.doubtnut.com/l/_pOogcCs3G2M8


View Text Solution

63. The tangent of a circle makes-angle with

radius at point of contact:

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

45∘

30∘

90∘

60∘

https://dl.doubtnut.com/l/_pOogcCs3G2M8
https://dl.doubtnut.com/l/_jWUFXO1KqMr0


64. The length of the tangent from a point A at a

circle, of radius 3 cm, is 4 cm. The distance of A

from the centre of the circle is:

A. 

B. 7 cm

C. 5 cm

D. 25 cm

Answer: C

View Text Solution

√7cm

https://dl.doubtnut.com/l/_jWUFXO1KqMr0
https://dl.doubtnut.com/l/_fToQadCJlCWh


65. If TP and TQ are two tangents to a circle with

centre O so that , then  is

equal to:

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∠POQ = 110∘ ∠PTQ

60∘

70∘

80∘

90∘

https://dl.doubtnut.com/l/_4BOe2bC3bNYP
https://dl.doubtnut.com/l/_il5dTeqY4vby


66. PQ is a tangent to a circle with centre O at the

point P. If  is an isosceles triangle, then 

 is equal to:

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

ΔOPQ

∠OQP

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_il5dTeqY4vby
https://dl.doubtnut.com/l/_gVMXaibAPij2


67. ABC is a right angled triangle, right angled at

B such that BC= 6 cm and AB = 8 cm. A circle with

centre O is incribed in . The radius of the

circle is:

A. 1 cm

B. 2 cm

C. 3 cm

D. 4 cm

Answer: B

View Text Solution

ΔABC

https://dl.doubtnut.com/l/_gVMXaibAPij2
https://dl.doubtnut.com/l/_UPK4jpQq0gqh


68. In the figure, the perimeter of  is: 


A. 30 cm

B. 60 cm

C. 45 cm

D. 15 cm

Answer: A

ΔABC

https://dl.doubtnut.com/l/_UPK4jpQq0gqh


View Text Solution

69. If tangents PA and PB from a point P to a circle

with centre O are inclined to each other at an

angle of  , then  is equal to:

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

80∘ ∠POA

50∘

60∘

70∘

80∘

https://dl.doubtnut.com/l/_UPK4jpQq0gqh
https://dl.doubtnut.com/l/_7hQfHLaGSCZh


Very Short Answer Type Questions

View Text Solution

1. Two concentric circles are of radii 7 cm and r cm

respectively, where  A chord of the larger

circle of length 48 cm touches the smaller circle.

Find the value of r.

View Text Solution

r > 7

2. From a point P, 10 cm away from the centre of a

circle, a tangent PT of length 8 cm is drawn. Find

https://dl.doubtnut.com/l/_7hQfHLaGSCZh
https://dl.doubtnut.com/l/_R96hiBGs55dI
https://dl.doubtnut.com/l/_3Y5RKo7ydgKa


the radius of the circle.

View Text Solution

3. A circle is inscribed in a , touching BC,

CA and AB at P, Q and R respectively. If AB = 10 cm,

AQ=7 cm and CQ=5 cm, then find the length of BC.

View Text Solution

△ ABC

4. A circle is touching the side BC of  at

P and touching AB and AC produced at Q and R

△ ABC

https://dl.doubtnut.com/l/_3Y5RKo7ydgKa
https://dl.doubtnut.com/l/_GaGWoujbevit
https://dl.doubtnut.com/l/_JdK34n9RaPjA


respectively. Prove that  (perimeter of 

)

View Text Solution

AQ =
1

2

△ ABC

5. In given figure, AB is the diameter of a circle

with centre O and AT is a tangent. If

, find 

View Text Solution

∠AOQ = 58∘ ∠ATQ

6. From a point P, two tangents PA and PB are

drawn to a circle with centre O. If OP = diameter

https://dl.doubtnut.com/l/_JdK34n9RaPjA
https://dl.doubtnut.com/l/_CneLBSvht8PN
https://dl.doubtnut.com/l/_U0Mf1Q6k0wrB


of the circle, show that  is equilateral.

View Text Solution

△ APB

7. In the figure, a circle touches all the four sides

of a quadrilateral ABCD with AB = 6 cm, BC = 7 cm,

and CD = 4 cm. Find AD.

View Text Solution

8. A is a point at a distance 13 cm from the centre

O of a circle of radius 5 cm. AP and AQ are the

tangents to the circle at P and Q. If a tangent BC

https://dl.doubtnut.com/l/_U0Mf1Q6k0wrB
https://dl.doubtnut.com/l/_RLmLfoBDdbS6
https://dl.doubtnut.com/l/_YShYkq7naF5l


is drawn at a point R lying on the minor are PQ to

intersect AP at B and AQ at C, find the perimeter

of the .

View Text Solution

△ ABC

9. If PT is a tangent at T to a circle whose centre is

O and OP = 17 cm, OT = 8 cm. Find the length of

the tangent segment PT.

View Text Solution

https://dl.doubtnut.com/l/_YShYkq7naF5l
https://dl.doubtnut.com/l/_U1fBN1Ba2Vkh


10. If the angle between two tangents drawn from

an external point P to a circle of radius a and

centre O, is , then find the length of OP.

View Text Solution

60∘

11. In the given figure, PQ and PR are two tangents

to a circle with centre O. If  , then∠QPR = 46∘

https://dl.doubtnut.com/l/_FJaBP6dwXKux
https://dl.doubtnut.com/l/_hWgkuuyfDYdF


find  


View Text Solution

∠QOR.

12. Find the perimeter of a square circumscribing

a circle of radius a cm.

View Text Solution

https://dl.doubtnut.com/l/_hWgkuuyfDYdF
https://dl.doubtnut.com/l/_yevyz5gcKNjG
https://dl.doubtnut.com/l/_Xqd4Nn9xIY51


13. From an external point P, tangents PA and PB

are drawn to a circle with centre O. If

, then find .

View Text Solution

∠PAB = 50∘ ∠AOB

14. In the given figure, PQ is a tangent at a point C

to a circle with centre O. If AB is a diameter and

https://dl.doubtnut.com/l/_Xqd4Nn9xIY51
https://dl.doubtnut.com/l/_GkUrTBz36kiu


 , find  


View Text Solution

∠CAB = 30∘ ∠PCA.

15. Tangents PA and PB are drawn from an

external point P to two concentric circles with

centre O and radii 8 cm and 5 cm respectively as

shown in the given figure. If AP = 15 cm, find the

https://dl.doubtnut.com/l/_GkUrTBz36kiu
https://dl.doubtnut.com/l/_dUnfYlTHJmFz


length of BP. 

View Text Solution

16. In the given figure, a circle touches all the four

sides of a quadrilateral ABCD whose sides are AB

= 6 cm, BC = 9 cm and CD = 8 cm. Find the length

https://dl.doubtnut.com/l/_dUnfYlTHJmFz
https://dl.doubtnut.com/l/_WVP2ljL9fcOq


of side AD. 

View Text Solution

17. Two concentric circles are of radii 7 cm and r

cm respectively, where . A chord of the

larger circle of length 48 cm touches the smaller

circle. Find the value of r.

r > 7

https://dl.doubtnut.com/l/_WVP2ljL9fcOq
https://dl.doubtnut.com/l/_uBxORSgkFsJX


View Text Solution

18. A circle is inscribed in a , touching BC,

CA and AB at P, Q and R respectively. If AB = 10 cm,

AQ = 7 cm and CQ = 5 cm, then find the length of

BC.

View Text Solution

ΔABC

19. In the given figure, PA is a tangent from an

external point P to a circle with centre O. If

https://dl.doubtnut.com/l/_uBxORSgkFsJX
https://dl.doubtnut.com/l/_MCj9IQ5joFBv
https://dl.doubtnut.com/l/_Uf9KCoyo7GZ4


, find  

View Text Solution

∠POB = 115∘ ∠APO.

20. In given figure, AB is the diameter of a circle

with centre O and AT is a tangent. If

https://dl.doubtnut.com/l/_Uf9KCoyo7GZ4
https://dl.doubtnut.com/l/_YHYhkuvN13Tk


 , find . 


View Text Solution

∠AOQ = 58∘ ∠ATQ

21. In the given figure, AP and BP are tangents to ,

a circle with centre O, such that AP = 5 cm and

https://dl.doubtnut.com/l/_YHYhkuvN13Tk
https://dl.doubtnut.com/l/_fm71tgHH0WBB


. Find the length of chord AB. 

View Text Solution

∠APB = 60∘

https://dl.doubtnut.com/l/_fm71tgHH0WBB


22. In the given figure, PA and PB are tangents to

the circle from an external point P. CD is another

tangent touching the circle at Q. If PA= 12 cm, QC

= QD = 3cm, then find.PC + PD. 

View Text Solution

https://dl.doubtnut.com/l/_deK9UuOp5c2z


23. A village Panchayt constructed a circular tank

to serve as a bird bath. A fencing was made in the

shape of a quadrilateral. Sides of the

quadrilatieral touched the circle as shown in the

figure. 

 


If AB = 5m, CD= 6m BC = 7 m, then find AD

View Text Solution

https://dl.doubtnut.com/l/_aAY31aE1ZWB7


Short Answer Type Questions

1. A circle is inscribed in a  touching AB,

BC and AC at P, Q and R respectively. If AB = 10 cm,

AR = 7 cm and CR = 5 cm, find the length of BC.

View Text Solution

△ ABC

2. Find the length of a tangent drawn to a circle

with radius 5 cm, form a point 13 cm from the

centre of the circle.

https://dl.doubtnut.com/l/_aAY31aE1ZWB7
https://dl.doubtnut.com/l/_2x1xota6HdXn
https://dl.doubtnut.com/l/_nH4YdrlwBIiO


View Text Solution

3. A point P is 26 cm away from O of circle and the

length PT of the tangent drawn from P to the

circle is 10 cm. Find the radius of the circle.

View Text Solution

4. Prove that the intercept of a tangent between

two parallel tangents to a circle subtends a right

angle at centre.

View Text Solution

https://dl.doubtnut.com/l/_nH4YdrlwBIiO
https://dl.doubtnut.com/l/_nzHx9drFssrn
https://dl.doubtnut.com/l/_odKW14bvVPj7


5. In Fig, below, PQ is tangent at point R of the

circle with center O. If  , find 

View Text Solution

∠TRQ = 30∘ ∠PRS

6. If PA and PB are tangents from an outside point

P. Such that PA = 10 cm and . Find

the length of chord AB.

View Text Solution

∠APB = 60∘

https://dl.doubtnut.com/l/_odKW14bvVPj7
https://dl.doubtnut.com/l/_FRq3lYsBoIUc
https://dl.doubtnut.com/l/_0nPwOvCGdG64


7. In the given figure, a  is drawn to

circumscribe a circle of radius 6 cm such that the

segments QT and TR into which QR is divided by

the point of contact are of lengths 12 cm and 9

cm respectively. If the area of  ,

then find the lengths of sides PQ and PR. 

View Text Solution

ΔPQR

ΔPQR = 189cm2

https://dl.doubtnut.com/l/_N0QVuaESqcbe


8. Prove that the intercept of a tangent between

two parallel tangents to a circle subtends a right

angle at centre.

View Text Solution

9. In the given figure, PQ is tangent at point R of

the circle with center O. If  find ∠TRQ = 30∘

https://dl.doubtnut.com/l/_N0QVuaESqcbe
https://dl.doubtnut.com/l/_yR2YX2G11LnC
https://dl.doubtnut.com/l/_DS7n6udlDZ43


 


View Text Solution

∠PRS

10. In figure, PQ is a chord of a circle with centre O

and PT is a tangent . If  , find ∠QPT = 60∘

https://dl.doubtnut.com/l/_DS7n6udlDZ43
https://dl.doubtnut.com/l/_jCJgSARIJLI4


 

View Text Solution

∠PRQ

11. Shipra prepared a project for rain water

harvesting. diagrammatic representation of the

project is given in the figure. PQ and PR are the

pipes touching the circular pit. Length of these

pipes is 5 m each. What is the perimeter of

https://dl.doubtnut.com/l/_jCJgSARIJLI4
https://dl.doubtnut.com/l/_GdWWVBxeSDX4


Long Answer Type Questions

 ? 


View Text Solution

ΔPMN

https://dl.doubtnut.com/l/_GdWWVBxeSDX4


1. From an external point P, tangents PA and PB

are drawn to a circle with centre O. If CD is the

tangent to the circle at a point E and PA = 14 cm,

find the perimeter of .

View Text Solution

△ PCD

2. Out of the two concentric circles, the radius of

the outer circle is 5 cm and the chord AC of

length 8 cm is a tangent to the inner circle. Find

the radius of the inner circle.

View Text Solution

https://dl.doubtnut.com/l/_o2PpFZOw3wWD
https://dl.doubtnut.com/l/_yK2HdaCz5HwK


3. Prove that a diameter AB of a circle bisects all

those chords which are parallel to the tangent at

the point A.

View Text Solution

4. In the given figure, PQ is a chord of length 16

cm and the radius of the circle is 10 cm. The

tangents at P and Q intersect at a point T. Find

https://dl.doubtnut.com/l/_yK2HdaCz5HwK
https://dl.doubtnut.com/l/_tEah2CR6wip3
https://dl.doubtnut.com/l/_U4lVwBDssMR9


the length of TP. 

View Text Solution

5. In the given figure, PQ is a chord of length 8 cm

of a circle of radius 5 cm and centre O. The

tangents at P and Q intersect at point T. Find the

https://dl.doubtnut.com/l/_U4lVwBDssMR9
https://dl.doubtnut.com/l/_WaTu4HzLeUA1


length of TP. 

View Text Solution

6. Out of the two concentric circles, the radius of

the outer circle is 5 cm and the chord AC of

length 8 cm is a tangent to the inner circle. Find

the radius of the inner circle.

View Text Solution

https://dl.doubtnut.com/l/_WaTu4HzLeUA1
https://dl.doubtnut.com/l/_83leJniRc88O


7. The radii of two concentric circles are 13 cm and

8 cm. PQ is a diameter of the bigger circle. QR is a

tangent to the smaller circle touching it at R. Find

the length PR.

View Text Solution

8. A, B and C are three points on a circle. The

tangent at Cmeets BA produced at T. Given that

 and that the  ,

calculate the angle subtended by AB at the centre

∠ATC = 36∘ ∠ACT = 48∘

https://dl.doubtnut.com/l/_83leJniRc88O
https://dl.doubtnut.com/l/_op1zheD8aKhP
https://dl.doubtnut.com/l/_ElKdwOSexNBm


Evaluation And Analysis Based Questions

of the circle. 

View Text Solution

1. The radii of two concentric circles are 13 cm and

8 cm. PQ is a diameter of the bigger circle. QR is a

https://dl.doubtnut.com/l/_ElKdwOSexNBm
https://dl.doubtnut.com/l/_7SnWBJyl5TPK


Assertion And Reason Based Questions

tangent to the smaller circle touching it at R. Find

the length PR.

View Text Solution

2. In a circle, OP is equal to diameter of the circle.

PA and PB are two tangents. Prove that 

is an equilateral triangle.

View Text Solution

△ ABP

https://dl.doubtnut.com/l/_7SnWBJyl5TPK
https://dl.doubtnut.com/l/_OK9nz3LdoCTn
https://dl.doubtnut.com/l/_de0CW3WbIZvS


1. Assertion: The radius of a circle is 10 cm and the

length of one of its chords is 16 cm. Then the

distance of the chord from the centre is 6cm. 

Reason : The perpendicular from the centre of a

circle to a chord bisects the chord.

A. Both the Assertion and the Reason are

correct and Reason is the correct

explanation
of the Assertion.

B. Both the Assertion and the Reason are

correct but Reason is not the correct

explanation of the Assertion.

https://dl.doubtnut.com/l/_de0CW3WbIZvS


C. Assertion is true but Reason is false.

D. Both Assertion and Reason are false.

Answer: A

View Text Solution

2. Assertion : If in a circle, the radius of the circle

is 3 cm and distance of a point from the centre of

a circle is 5 cm, then length of the tangent from

that point will be 4 cm. Reason :

View Text Solution

(hypotenuse)2 = (base)2 + (perpendicular height)2

https://dl.doubtnut.com/l/_de0CW3WbIZvS
https://dl.doubtnut.com/l/_0Q2jOftsonT1


Self Assessment

1. A tangent PQ at a point P of a circle of radius 5

cm meets a line through the centre O at a point

Q so that OQ = 13 cm. Find the length of PQ.

View Text Solution

2. The radius of the incircle of a triangle is 8 cm

and the segments into which one side is divided

https://dl.doubtnut.com/l/_0Q2jOftsonT1
https://dl.doubtnut.com/l/_0xtLeMyZMgO9
https://dl.doubtnut.com/l/_McTQmdmsc1tY


by the point of contact are 12cm and 16cm.

Determine the other two sides of the triangle.

View Text Solution

3. PQ is a chord of length 8 cm of a circle of radius

5 cm. The tangents P and Q intersect at a point T.

Find the length of TP.

View Text Solution

4. Two concentric circles are of radii 10 cm and 6

cm. Find the length of the chord of the larger

https://dl.doubtnut.com/l/_McTQmdmsc1tY
https://dl.doubtnut.com/l/_ehcZEClM7R4f
https://dl.doubtnut.com/l/_GjfPhoRodnvZ


Case Based Questions

circle which touches the smaller circle.

View Text Solution

5. From an external point P, tangents PA and PB

are drawn to a circle with centre O. If CD is the

tangent to the circle at a point E and PA = 14 cm,

find the perimeter of .

View Text Solution

△ PCD

https://dl.doubtnut.com/l/_GjfPhoRodnvZ
https://dl.doubtnut.com/l/_vOX2ktPSgW1q
https://dl.doubtnut.com/l/_VCVsYGbfFLZV


1. For class 10 students, a teacher planned a game

for the revision of chapter circles with some

questions written on the board, which are to be

answered by the students. For each correct

answer, a student will get a reward. Some of the

questions are given below. 

 


https://dl.doubtnut.com/l/_VCVsYGbfFLZV


In the given figure, x + y = 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

60∘

90∘

120∘

145∘

https://dl.doubtnut.com/l/_VCVsYGbfFLZV


2. For class 10 students, a teacher planned a

game for the revision of chapter circles with

some questions written on the board, which are

to be answered by the students. For each correct

answer, a student will get a reward. Some of the

questions are given below. 

https://dl.doubtnut.com/l/_LElOoz6nna5z


 


If PA and PB are two tangents drawn to a circle

with centre O from P such that  ,

then 

A. 

B. 

∠PBA = 50∘

∠OAB =

50∘

25∘

https://dl.doubtnut.com/l/_LElOoz6nna5z


C. 

D. 

Answer: C

View Text Solution

40∘

130∘

3. For class 10 students, a teacher planned a

game for the revision of chapter circles with

some questions written on the board, which are

to be answered by the students. For each correct

answer, a student will get a reward. Some of the

questions are given below. 

https://dl.doubtnut.com/l/_LElOoz6nna5z
https://dl.doubtnut.com/l/_2CHvqYA08gLS


 


In the given, figure PQ and PR are two tangents to

the circle, then  = 

A. 

∠ROQ

30∘

https://dl.doubtnut.com/l/_2CHvqYA08gLS


B. 

C. 

D. 

Answer: D

View Text Solution

60∘

105∘

150∘

4. For class 10 students, a teacher planned a

game for the revision of chapter circles with

some questions written on the board, which are

to be answered by the students. For each correct

answer, a student will get a reward. Some of the

https://dl.doubtnut.com/l/_2CHvqYA08gLS
https://dl.doubtnut.com/l/_TB00Y3p40H3z


questions are given below. 

 


In the adjoining figure, AB is a chord of the circle

and AOC is its diameter such that

https://dl.doubtnut.com/l/_TB00Y3p40H3z


 


 


A. 

B. 

C. 

D. 

Answer: B

∠ACB = 55∘ , ∠BAT =

35∘

55∘

125∘

110∘

https://dl.doubtnut.com/l/_TB00Y3p40H3z


View Text Solution

5. For class 10 students, a teacher planned a

game for the revision of chapter circles with

some questions written on the board, which are

to be answered by the students. For each correct

answer, a student will get a reward. Some of the

questions are given below. 

https://dl.doubtnut.com/l/_TB00Y3p40H3z
https://dl.doubtnut.com/l/_ViS7KL0XiRIm


 


In the adjoining figure, if PC is the A of the circle

with  then 

. 


∠PAB = 72∘ and ∠AOB = 13∘

∠ABC =

https://dl.doubtnut.com/l/_ViS7KL0XiRIm


Passage Based Questions

A. 

B. 

C. 

D. can't be determined

Answer: B

View Text Solution

18∘

30∘

60∘

https://dl.doubtnut.com/l/_ViS7KL0XiRIm


1. Read the following passage and answer the

questions that follows: 

There is a circular park of radius 24 m and a pole

at a distance of 26 m from the centre of the park,

as shown in the figure. From the pole, there are

two paths PR and PQ, which are tangential to the

park. 

 


Find the length of each path.

View Text Solution

https://dl.doubtnut.com/l/_txP9ojxKGTbu


2. Read the following passage and answer the

questions that follows: 

There is a circular park of radius 24 m and a pole

at a distance of 26 m from the centre of the park,

as shown in the figure. From the pole, there are

two paths PR and PQ, which are tangential to the

park. 

 


If five light poles has to be put along each

https://dl.doubtnut.com/l/_txP9ojxKGTbu
https://dl.doubtnut.com/l/_TENyl99Ki0Tv


Self Assessment

tangential path at equal distances, find the

distance between each consecutive light pole.

View Text Solution

1. A tangent PQ at a point P of a circle of radius 5

cm meets a line through the centre O at a point

Q so that OQ = 13 cm. Find the length of PQ.

View Text Solution

https://dl.doubtnut.com/l/_TENyl99Ki0Tv
https://dl.doubtnut.com/l/_flKAAYfiPmOz
https://dl.doubtnut.com/l/_6NDFKsWDLA87


2. The radius of the in circle of a triangle is 8 cm

and the segments into which one side is divided

by the point of contact are 12cm and 16cm.

Determine the other two sides of the triangle.

View Text Solution

3. PQ is a chord of length 8 cm of a circle of radius

5 cm. The tangents P and Q intersect at a point T.

Find the length of TP.

View Text Solution

https://dl.doubtnut.com/l/_6NDFKsWDLA87
https://dl.doubtnut.com/l/_YEAZ3wo4ifpJ


4. Two concentric circles are of radii 10 cm and 6

cm. Find the length of the chord of the larger A

circle which touches the smaller circle.

View Text Solution

5. From an external point P, tangents PA and PB

are drawn to a circle with centre O. If CD is the

tangent to the circle at a point E and PA = 14 cm,

find the perimeter of 

View Text Solution

ΔPCD.

https://dl.doubtnut.com/l/_vsqev9ZKTwwD
https://dl.doubtnut.com/l/_ONTSemOns5Y1
https://dl.doubtnut.com/l/_d5Xx30PIZBv6


6. In the given figure, there are two concentric

circles with centre O of radii 5 cm and 3 cm. From

an external point P, tangents PA and PB are drawn

to these circle. If AP = 12 cm, find the length of BP. 

View Text Solution

https://dl.doubtnut.com/l/_d5Xx30PIZBv6


7. In the given figure, AB is a chord of length 16

cm of a circle of radius 10 cm. The tangents at A

and B intersect at a point P. Find the length of PA.

View Text Solution

https://dl.doubtnut.com/l/_kq6M2Jpuguo5

